UGC NET 2022 FORENSIC SCIENCE

Topic:- 82_PARTA_S1
1) The first code of ethics specifically for criminalistics was developed by

=amrerie T Sarien + o fafie =g 9 s gm gem sr=m afea dan $iong o 7

[Question ID = 10801][Question Description = 101_82_Forensic_Science_0CT22_Q01]
1. California Association of Criminalisetics

[Option ID = 13201]
2. The Anierican board of Criminalisctics

[Option ID = 13202]
3. The Association of Firearms & Toolkits

[Option ID = 13203]
4. Ameriean Association of Forensic Science

[Option ID = 13204]

2) Who among theze 1= the first person to develop scientific method for the identificatiopn of an
individual

Tt =aieh =t wemma % T Saniaes fafa o s #m aren Fafeiaa § 8 & 5 g2 <ais 27
[Question ID = 10802][Question Description = 102_82_Forensic_Science_0CT22_Q02]
- Alphonse Bertillon

[Option ID = 13205]
2. Alec Jeffreyv

e A

[Option ID = 13206]
3. Willham Herschel

[Option ID = 13207]
4. Gregor Mandel
i e
[Option ID = 13208]

3) American Academy of Forensic Science began the publication of which of these Seientific
journals



Sy Rl S BRI AR 3 et 6 3 g dnts w99 #0 weree uny o
[Question ID = 10803][Question Description = 103_82_Forensic_Science_0CT22_Q03]
1. Journal of Forensic Science
T ATF FAHE HEH

[Option ID = 13209]
2. Medieal Science and Law

[Option ID = 13210]
3. Journal of Lezal medicine

[Option ID = 13211]
4. Journal of Forensic Research

el A B e

[Option ID = 13212]

4)  The probability of two individuals having same fingerprint has been mathematically
calculated by Vietor Balthazard as :
faaet AreaaTE A Bum Sie-am 9e 31 =t 6 Sarste &1 i En 3 e s 8 vive et

[Question ID = 10804][Question Description = 104_82_Forensic_Science_0CT22_Q04]
1. 1% 10 to the 30% power

309 T F 1 X 10

[Option ID = 13213]
2. 1% 10 to the G0® power

G0 AT 1 X 10

[Option ID = 13214]
3. 1 %10 to the 90 power

GOATHF 1 X 10

[Option ID = 13215]
4. 1% 10 to the 100™ power

100 9 TEF 1 X 10

[Option ID = 13216]

5  Chiral stationary phase in Gas Chromategraphy 1s mainly used for the seperation of which of
the following compounds ?

N sl 4 e e w6 el 0 @ f g o e = foo gega: swaw fEe s 27

[Question ID = 10805][Question Description = 105_82_Forensic_Science_0CT22_Q05]

1. Btruetural isoniers

ZEE AEHEA



[Option ID = 13217]
2. Conformational 1somers

FRHYTH AT

[Option ID = 13218]
3. Enantiomers

gl
[Option ID = 13219]
4. Geometric isomers

T ia o AT gﬂ‘l 174

[Option ID = 13220]

6) Degree of asymmetry iz one of the parameters considered for which of the following
calibration curve model utihzed for immunoassay ?

syrufafe =1 wen & v ymEe ) afaea i (s ) o oo ot 8 9 e s aF grza
1 I T ren 27
[Question ID = 10806][Question Description = 106_82_Forensic_Science_0CT22_Q06]
1. Linear model
‘.l o) -
[Option ID = 13221]
2. @uadratic model

feemedra uize

[Option ID = 13222]
3. Four parameter logistic model

T B9 E 1 HAYE g1 Ze

[Option ID = 13223]
4. Five parameter logistic mode]

9T HI9E2 1 H9H 9w
[Option ID = 13224]

7)  Which of the following has the least intensity in the Raman spéctra of Carbon tetrachloride?

Faeferfiaa O #reR eraemes & e auf faam 3 =gy diga 27

[Question ID = 10807][Question Description = 107_82_Forensic_Science_0CT22_Q07]
1. Stokes scattering

[Option ID = 13225]
2. Tyndall scattering

[Option ID = 13226]
3. Anti-strokes scattering

FemEn =i



[Option ID = 13227]
4. Rayleigh scattering

[Option ID = 13228]

8)  Movement of molecule in an electrophoretic set-up 1s inversely proportional to which of the
following ?
A2 SATERAA HOEAT B AW 1 Aeferian 3 o afae e e O 2ei e?
[Question ID = 10808][Question Description = 108_82_Forensic_Science_0CT22_Q08]
1. Field strensth
&7 9T

[Option ID = 13229]
2. Charge on the molecule

[Option ID = 13230]
3. BSize of the molecule

HU[ =hl STRH
[Option ID = 13231]
4. Burface tension of the solution
ferergm =1 adw a4

[Option ID = 13232]
9 A waxy substance found in the ear canal 1s known as-

0l TfE H T ST TereH dad FEe 2

[Question ID = 10809][Question Description = 109_82_Forensic_Science_0CT22_Q09]

1. Sputum

b |
[Option ID = 13233]
2. Sebum
qay
[Option ID = 13234]

3. Muecus

T

[Option ID = 13235]
4. Cerumen

HFEL

[Option ID = 13236]

10) The zene locus of Rhesus blood group svstem 1= -



199 77 HYE 1 ofE AR 2

[Question ID = 10810][Question Description = 110_82_Forensic_Science_0CT22_Q10]

- 1921-925

[Option ID = 13237]
2. 1p36.2:p34

[Option ID = 13238]
3. 4p28-g31

[Option ID = 13239]
4. 9g34.1-g534.2

[Option ID = 13240]

1) Which of the following chemical can be used as a mounting media for preparing hawr
references samples for microscopy 7

Heweefi # fafam e - ufdesl fam am % fom Fraifa § & 38 @ s 25y g & &9 1 9 A
el 2

[Question ID = 10811][Question Description = 111_82_Forensic_Science_0CT22_Q11]

1. Di-boron Tetrachlomde

[Option ID = 13241]
2. Dh-iodine pentoxide in xvlel

1 B e | S R P 2 )

[Option ID = 13242]
3. disodium phosphate in xvlene

wgler O =rsaifeam wiek:

[Option ID = 13243]
4. Di-n-buty] phthalate in xvlene

amzfer 4 <1 va sgEree dete

[Option ID = 13244]

12) Mancini method of immune-diffusion is an example of -

afeedi— s &1 e fad) e 9 8 e e
[Question ID = 10812][Question Description = 112_82_Forensic_Science_0CT22_Q12]
1. Single diffusion in one dimension
ek, ey o were e

[Option ID = 13245]
2. Single diffusion in two dimensions

@1 famati § v famam

[Option ID = 13246]
3. Double diffusion in one dimension

e Fou 4 g fagem



[Option ID = 13247]
4. Double diffusion In two dimensions

41 famaT d 2 g
[Option ID = 13248]

13)  Which of the following section of the Motor Vehicle Act 1988 deals with the admissibility of a
breath analyzer 7

qrer ared sifufan, 1088 Fi Fafafaa § 8 SR gm vaum Fvems £ ame 8 gt 27

[Question ID = 10813][Question Description = 113_82_Forensic_Science_0CT22_Q13]
1. Section 180

T 180

[Option ID = 13249]
2. Section 182

HI IR

[Option ID = 13250]
3. SBection 180

HET 185

[Option ID = 13251]
4. Section 189

M 180

[Option ID = 13252]

14) A hallucinogen drug mixed with gelatine and cut into small squares called as
faretfen fafam R siwfi o 2R o O faema 2, Feem 2 -

[Question ID = 10814][Question Description = 114_82_Forensic_Science_0CT22_Q14]
1. Mieradots

g TS (e )

[Option ID = 13253]
2. (Orange sunshine

ST FF9IEA (A e
[Option ID = 13254]
© Purple haze
g 2t (et 99)
[Option ID = 13255]
4. Window panes

farafin (farsfi s )

[Option ID = 13256]

15)  Which of the following contain scopolamine ?

frrferara 1 fomrdl w2rrdierarse v =i 2



[Question ID = 10815][Question Description = 115_82_Forensic_Science_0CT22_Q15]
1. Chrysanthemum cinerariaefolium

[Option ID = 13257]
2. Atropa Belladonna

W ST
[Option ID = 13258]
3. Taxus breviofolia

e feen wifer
[Option ID = 13259]
4. Senecio vernalis

[Option ID = 13260]

16) Nees line are the characterstic feature of the poisoning due to which of the following

fre=fefiaa § e s frfen 1 da o & am usesd et

[Question ID = 10816][Question Description = 116_82_Forensic_Science_0CT22_Q16]
1. Mercury

EEx

[Option ID = 13261]
2. Arsenic

[Option ID = 13262]
3. Cadmium

Fzfipm
[Option ID = 13263]
4. Thallium

étferam
[Option ID = 13264]

17)  Among the followinz which oné 1s a substitute for black powder having similar burning
properties and safer to handle
Fraferfas i Fren arzer Fafaamm 2 frs aum saeeie 1 2 i soe wam geiaa 2
[Question ID = 10817][Question Description = 117_82_Forensic_Science_0CT22_Q17]
1. Pyrodex
BIEn ECE
[Option ID = 13265]
2. Smokeless powder
yagnifed wrast
[Option ID = 13266]
3. Semi smokeless powder



s g wmfed e

[Option ID = 13267]

4. Semtex

[Option ID = 13268]

18) In a small-arms bullet (revelver), the masimum range 1s attained between which of the
following angle of elevation

A (fratear) @ sty wos (T9) Foifea O | B 33q £ 6 ae o feen s 87
[Question ID = 10818][Question Description = 118_82_Forensic_Science_0CT22_Q18]
1. 25°-31°

35 fafi 4 31 gl & &=
[Option ID = 13269]
2. 28°- 36°
28 farfi @ 35 faufi =

[Option ID = 13270]
3. 29°.35°

20 ffi @ 35 Tfi % af

[Option ID = 13271]
4. 299 _ BGC-
20 f=afi 91 36 feifi M

[Option ID = 13272]

19) Which action is not used in the operation of automatic pistol 7
AT el & TeTeH B i § 3 %6 H i e 8 a8

[Question ID = 10819][Question Description = 119_82_Forensic_Science_0CT22_Q19]
1. Blow hack

el &
[Option ID = 13273]
2. Swage

-

=

[Option ID = 13274]
3. Recail

Trarae
[Option ID = 13275]
4 Gas

BIES

[Option ID = 13276]

20) In Grease test, Marshall's reazent is veplaced by which of the following reagent?



1| w4 urete & i Fatataa 0 4 e afoeds gm sfaenim e st

[Question ID = 10820][Question Description = 120_82_Forensic_Science_0CT22_Q20]
1. Alpha-naphthol

HAF T
[Option ID = 13277]
2. Triphenyl methylarsonium iodide
TEFATEA HYTgerEay ARTEEs

[Option ID = 13278]
3. Sulphamnilic acid

Hehiaiers 35

[Option ID = 13279]
4. 2-naphthylamine

2 ETEE

[Option ID = 13280]

21)  In ease of detonation of explosive the chemical reaction proceeds

Tepepran o WegTes & wHe O 1w fFm & et a2
[Question ID = 10821][Question Description = 121_82_Forensic_Science_0CT22_Q21]

1. Through the material at a rate greater than the speed of sound in the unreacted
material ,

e & urean § st v 0ty Fafa a o sfawafa A

[Option ID = 13281]
5. Through the material at a rate less than or equal to the speed of sound in the reacted
material,

ward % ey | afE vered U w3ty o i | s wE e 8

[Option ID = 13282]
- Through the material at a rate greater than the speed of ight 1n the reacted material.

qerd % Uiern | giga verd O w1 & wiE A
[Option ID = 13283]

4. Through the material at a speed egual to the speed of light 1n the unreacted
material.

et o Hre H st e i weererht i % waE e |

[Option ID = 13284]

22)  \Which of the following techniques is used for the presumptive identification of explosives.

Taegrea 1 siquiHa Team # fow Hefefad O 0 a1 wm fa s a7

[Question ID = 10822][Question Description = 122_82_Forensic_Science_0CT22_Q22]

' Color and spot testing

0 3T FEARE qE)

[Option ID = 13285]



2. Ultraviolet spectrophotometyy

[Option ID = 13286]
3. Thin-layer chromatography

fe—crm sigenms
[Option ID = 13287]
4. Xoray diffractometry

w1 fedrad
[Option ID = 13288]

23) Which of the following technigues is used frequently to analvse samples suspected of
containing liquid fire accelerants.

Tyttt o dig e sfrafa 23 & 354 % Bverm 54 5 foe wa: efafes O e a2 gm
o s 2

[Question ID = 10823][Question Description = 123_82_Forensic_Science_0CT22_Q23]

1. (ras chromatography-Aass spectroscopy (GC-MS)

ity i) < T

[Option ID = 13289]
2. X.ray spectrometry

e IR E ALY
[Option ID = 13290]
3. Ulira-violet spectroscopy

[Option ID = 13291]
4. Atomie absorpitlon spectroscopy

[Option ID = 13292]
24) ¢AD programs enhance the ability o
o1 v e e e 1 gae w27

[Question ID = 10824][Question Description = 124_82_Forensic_Science_0CT22_Q24]
1. Enhance digital photoeraphs

zon Tesfieal wemme
[Option ID = 13293]
2. Aid 1n note-talking
Jre #1d 4 TREE
[Option ID = 13294]
3. (Create finished crime scene sketches
FRETH 29 F T 6 g

[Option ID = 13295]
4. Track evidence



HIE = YA EE

[Option ID = 13296]
25) Film speed is denoted by which of the following?

freaferfiaa 4 forew <1 aifa =1 e e faen g 27
[Question ID = 10825][Question Description = 125_82_Forensic_Science_0CT22_Q25]
1. IS0

[Option ID = 13297]
2. 18A

AZTHY
[Option ID = 13298]
3181

1§ T 7

[Option ID = 13299]
4. 18D

qEum

[Option ID = 13300]
26) The most popular and typical cryptographic hasing alsorithms are ?

[Question ID = 10826][Question Description = 126_82_Forensic_Science_0CT22_Q26]
" RDS and DDN

A A gy

[Option ID = 13301]
2. SANS Hash Database

H U U UH 9] A

[Option ID = 13302]
3. Access Data
[Option ID = 13303]
4. AID5. SHA and SHA1

g <l S, THUE 37 vy
[Option ID = 13304]
27)  Diatoms ave present in blood cireulation of dead body because diatoms perforate the

e S 3 T YA ° SEe i w2 Tl s e

[Question ID = 10827][Question Description = 127_82_Forensic_Science_0CT22_Q27]

1. Venous blood membrane



[Option ID = 13305]
2. Skin membrane

T B

[Option ID = 13306]
Blaood vesselz of head

fagr <) =% afermd

[Option ID = 13307]
4. Alveolar capillary barrier

g FIITHT FY
[Option ID = 13308]

28) In case of data recovery by Forensic Expert from computer evidence, which storage device
allow fastest access to the data 7

wifaF f@ee am Fop me | = (sE)) e % e frafaheaa 0 O e feawa O il
stz /e i it = i

[Question ID = 10828][Question Description = 128_82_Forensic_Science_0CT22_Q28]

1. Hard Dizsk

[Option ID = 13309]
2. MO storage systems

g #| w2 oy

[Option ID = 13310]

3. 88D
wH wH g
[Option ID = 13311]
4. (CD
Hi 2

[Option ID = 13312]

29) Pairs of consonant sounds that differ only with rezard to thewr volcing classification. are
known as:

e Al g fo g s i | srem fn s 2, 1 #m 9 e

[Question ID = 10829][Question Description = 129_82_Forensic_Science_0CT22_Q29]

1. Cognates

HET

[Option ID = 13313]
2. Anti-resonace

farrefi—ufa waf



[Option ID = 13314]
3. Sibilants
—Eura:'l
[Option ID = 13315]
4. Continuants

[Option ID = 13316]

30) Which of the following are behavioural biometrics 7

frfeafian 8 srawricg armafeag # a7
[Question ID = 10830][Question Description = 130_82_Forensic_Science_0CT22_Q30]
- Lip motion

3118 1fd

[Option ID = 13317]
2. Gait

e &
[Option ID = 13318]

Thermogram

T

[Option ID = 13319]
Volce

3.

4.

SAETH [ 5

[Option ID = 13320]

31)  Footwear impression on snow is eoinmonly casted using which of the following methods ©
ak o 5 o # s o e i 3 anarera: gren s 27

[Question ID = 10831][Question Description = 131_82_Forensic_Science_0CT22_Q31]
1. Melted sulfur

[Option ID = 13321]

2. Plaster of paris

AR ST U

[Option ID = 13322]

3. Hot wax

4 5ig

[Option ID = 13323]
4. ‘Wood's metal

EAESSIT

[Option ID = 13324]



32) e perpendicular distance from centre of one wheel (impression) to the opposite wheel
(Impression) i better known as ;

e, gieu (BT) % FE | HEH % Tiw (B) fi a7 # wE = E

[Question ID = 10832][Question Description = 132_82_Forensic_Science_0CT22_Q32]
- Wheel base

el 5
[Option ID = 13325]
2. Tive starice

T o A

[Option ID = 13326]

3. Tire aspect vatio

[Option ID = 13327]
4. Section width

HavH ] A=

[Option ID = 13328]
33) Whieh of the following iz the characterstics of genuine signatures having good line quality?
frtferfiaa B auraremgl smatforss ewae i w0 fasman 27

[Question ID = 10833][Question Description = 133_82_Forensic_Science_0CT22_Q33]
1. Flying starts and tapering endings

RN § ) SR e T w2 I

[Option ID = 13329]
2. Penlifts at Unnatural places

S FIHT W G 33 7

[Option ID = 13330]
3. Abrupt change in the divection of storkes

[Option ID = 13331]
4. Concealed retouching

ST ST
[Option ID = 13332]

2

34) Which of the following is not used as the security feature in genuine printed documents 7

werl o YTHIVE Yo 4 Hiay) dfres & fou Hefofad 8 fe sam =21 fFn s ?

[Question ID = 10834][Question Description = 134_82_Forensic_Science_0CT22_Q34]

1. UV flucrescent feature



[Option ID = 13333]
2. YWatermark

1 T

[Option ID = 13334]
3. Retro-reflective feature

[Option ID = 13335]
4. Dandy rell

T
[Option ID = 13336]

35) The trash or defect marks which are repeated several times. on the same page of laser
printed documents, 1n a consistently positioned vertical line are known as

e Tz e = gl w sHe an add w9 4 @fas e aean 91 iyl Fag awe 2, @38 s s 2
[Question ID = 10835][Question Description = 135_82_Forensic_Science_0CT22_Q35]
1. Glass platen marks
T e fae
[Option ID = 13337]
2. Residual toner impressions
2 & st am

[Option ID = 13338]
3. Drum defect marks

29 2 1 A
[Option ID = 13339]
4. Roller defect marks
TR 5 1 e

[Option ID = 13340]

36) The cvlinder that serves as the backing for the paper and absorbs the blow from the typeface
12 known as

Fiaferst <l mTet o SHR-T8 WS F 8 S 2ETHH % ATHT F] S F01 e, 39 FEl A e -

[Question ID = 10836][Question Description = 136_82_Forensic_Science_0CT22_Q36]
1. Platen

24

[Option ID = 13341]

2. Dyrum

gH

[Option ID = 13342]
3. Escapement



[Option ID = 13343]
4. Type-wheel

213y -aa el
[Option ID = 13344]
37) As per seection 375 of IPC. Sexual Assault does not include
e 52 Hiwe 1 9w 375 F FHER =0 0H 9en d e 498 27

[Question ID = 10837][Question Description = 137_82_Forensic_Science_0CT22_Q37]
1. Rape or attempted rape.

AATER A AATER & T4

[Option ID = 13345]
2. Foreed sexual activity that does not result in penetration.

e [ A1 G o 21 ded A s 8

[Option ID = 13346]

3. Oral or anal intercourse.

o A TE H

[Option ID = 13347]
4 Sexual act with wife older than 16 years.

16 @M | sttt 51 i uedi % de 4 fEn

[Option ID = 13348]

38) Out of the following, which bones would give a better estimate of stature 7
eepferfian %+ 221 S = aEat of3uH & fom, wad 3 20

[Question ID = 10838][Question Description = 138_82_Forensic_Science_0CT22_Q38]
1. Clavicle and Navicular

FeAfashel S e
[Option ID = 13349]
Tibia and Femur

fefap ait fimm
[Option ID = 13350]

3. Radiug and Hyoid
Tfem s TrEETE

[Option ID = 13351]
4. Ulna and Sphenoid

e D e
[Option ID = 13352]

39) One of the first visible signs of putrification iz the appearance of greenish discoloration of
skin in the region of :



T a1 4 Fapen o wfed T fowEns ged W aeA o g fae 2w g 27

[Question ID = 10839][Question Description = 139_82_Forensic_Science_0CT22_Q39]
1. Popliteal fossa

[Option ID = 13353]
2. Right Iliac fossa
T2 =g HE
[Option ID = 13354]
3. Cubital fossa

FAREE FIHI
[Option ID = 13355]
4. Arm pits

/AT
[Option ID = 13356]
40) Blunt-force injuries which are produced following an impact in which the blood vessels and
soft tissues below or within skin arve torn and result in haemorrhage are termed as
Qg A | ST o SR T A # e & AT % T e s d9 HIHe I A1 = A 5w #
T E1H ATel TeRHETE o1 F ] AT 8
[Question ID = 10840][Question Description = 140_82_Forensic_Science_0CT22_Q40]
1. Contusicns
BrRAIn

[Option ID = 13357]
2. Ahrasions

ST

[Option ID = 13358]
3. Lacerations

farrm

[Option ID = 13359]
4. TIneisions

EGALIEIE T

[Option ID = 13360]

41)  Which of the following detectors are used for HPLC?

(A) Fluorescence detector

(B)  Sulfur Chemiluminescence detector
(C) Electro-chemical detector

(D) Flame Photometric detector

Choose the correct answer from the options given below :



e % fer fiiaa § 4 o daae @ 3w s 27
(A) AT

(B)  Hew FfHEA

(C)  Fr@-rmEAtE S

(D) Tl i daee

4 o o fasredi | 8 a3 9 = i

[Question ID = 10841][Question Description = 141_82_Forensic_Science_0CT22_Q41]
1. (B). (D) only
el (B) 3 (D)
[Option ID = 13361]
2. (A), (C) only
FAA (A) 31 (C)
[Option ID = 13362]
3 (B). (C) only
*de (B) 31 (C)
[Option ID = 13363]
4. (A). (D) only
F4e (A) 31 (D)

[Option ID = 13364]

42 > ! :
) Whach of the following are advantages of HPTLC over TLC?

(A) Requires lesz sample volume

{B) Particle size 1= more

(C) Less development time

(D) Solvent front migratrion distance 12 more

Choose the eorrect answer from the options given below :
Froeret i qern 4, wenfiduer) F s e 37
(A) g iy yiaae afoa s 2 g
(B) =l R wi d R
(C)  =en fary waifa
(D)  Taemas sy s (Afce b2 arEneE feem) s do 2

it faw e fegepei 4 3 w1l 3o o = Arfan

[Question ID = 10842][Question Description = 142_82_Forensic_Science_0CT22_Q42]
1. {(A), (B) only

Fad (A) 3 (B)

[Option ID = 13365]
2. (B, (C) only

F4e (B) =17 (C)

[Option ID = 13366]



3. (A), (C) only

F4HA (A) 30 (C)

[Option ID = 13367]
4. (C). (D) only

Fawl (C) w1 (D)

[Option ID = 13368]

43)

Which of the following toxic principles are present in Nertum odorum?

(4)
(B)
(C)
(D)
(E)

Oleandrin
Thevetin
Nerin
Folinerin

Cerberin

Choose the correct answer from the options given below :

Topferfian 4 8 e frarser ae fifrgg strgpa (F90) 4 3ufeim 27

refrf=EA

(A)
(B)
(C)
(D)
(E)

Haj
e few o foredi | 3 3l 3w = ifao

[Question ID = 10843][Question Description = 143_82_Forensic_Science_0CT22_Q43]
1. (A). (C) and (D) only

Fd (A), (C) 31 (D)

[Option ID = 13369]

(A), (B) and (D) only

FAe (A). (B) 31 (D)

[Option ID = 13370]

(B), (C) and (E) only

¥4 (B), (C) 21 (E)

[Option ID = 13371]

(C). (D) and (E) only

FadA (€. (D) 311 (E)

[Option ID = 13372]



44)

Vibrissae. the thicker and stiffer hair found in Felid species are also called-

(A)
(B)
()
(D)
(E)

Sensorv hair
Guard hair
Bristle hair
Tactile haw

Sinus hair

Choose the correct answer from the options given below :

Fiore Wl o 59 300 B& %9 8 9wy 95 aEed F Ay -

(A)
(B)
(€
(D)
(E)

T2 &
fares w1
P o o

A T o fepeai A 8 or@l 370 1 =194 <hifem

[Question ID = 10844][Question Description = 144_82_Forensic_Science_0CT22_Q44]

1. {A). (B)and (D) only

FA (A), (B) “% (D)

[Option ID = 13373]

(A), (B). (C) only

FAe (A). (B) 377 (C)

[Option ID = 13374]

(C), (D). (E) only

Fa (C), (D) 31 (E)

[Option ID = 13375]

(A). (D). (E) enly

FHe (A), (D) 3% (E)

[Option ID = 13376]

45)

Which of the followings are organochloro insecticides?

(A)
(B)
()
(D)

Allethrin
Lindane
Paraguat
Aldrin

Choose the correct answer from the options given below :



ARHEAT Fremfi s -

o

(A)  ueriud
(B) fore

(C) TR
D) ufFzA

1 e o ferspedi o 9 o) S o =g i

[Question ID = 10845][Question Description = 145_82_Forensic_Science_0CT22_Q45]
1. (A). (D) only

el (A) 3 (D)
[Option ID = 13377]
2. (B). (C) only
%A (B) 51 (C)
[Option ID = 13378]
3. {B). (D) only
*4e (B) =1 (D)
[Option ID = 13379]
4. (A). (C)only
FAA (A) 3 (O)

[Option ID = 13380]

46)  Naloxone is used to reverse the effect of which of the following drugs ?

(A) Morphine
(B) Ecstasy
(C)  Pethidine
(I  LSD

Choose the correct answer from the options given helow :

St 1 T o i 3w F a3 o e 37

(A)  HTEH
(B)  wrql
(C)  didizEA
(D)  wEAwHE

Hrt fau o frsreg | & wd 3w o =0 i
[Question ID = 10846][Question Description = 146_82_Forensic_Science_0CT22_Q46]
1. {A), (B) only

F4el (A) 37 (B)

[Option ID = 13381]
2. (A),1C) only

FAd (A) # (C)

[Option ID = 13382]



3. (B (C) only

9 (B) 31 (C)

[Option ID = 13383]
4. (C), (D) only

Faw (C) 31 (D)

[Option ID = 13384]

47)

Which of the following best defines external ballistics

(A) The flight of the bullet

(B) Shot charge after leaving the barrel

{C) Within a time span in the recion of 2 ms between the impact of the firing pin
D) The pressure generated inside the barrel which deternunes the fiight path

Choose the correct answer from the options given below :

ate Aferfran = Rt a8 gfaa wm 2 -

(A) e i =

(B) el e & A e e

(©)  wraf e % 2am % ofF 2 me ot g

(D)  F=FuE 1 fato # A e % dia gfem zam
A fau o fagredl 4 59 3w 1 =aa i

[Question ID = 10847][Question Description = 147_82_Forensic_Science_0CT22_Q47]
1. {A), (D) only

FHE (A) 370 (D)

[Option ID = 13385]
2. {A). (B)only

Fde (A) 311 (B)

[Option ID = 13386]
3. (C). (D) only

4 (C) 3 (D)

[Option ID = 13387]
4. (B). (C) only

Faa (B) 311 (C)

[Option ID = 13388]

48)

The penetrative properties of a bullet fired at a hard target material. such as steel or armor
plate. 1= affected greatly by

{A) The incidence veloeity

(B) Deflection of bullet after hitting the target

(C) Depends on the support used for firing the weapon

(D) The bullet construction

Choose the correct answer fiom the options given below !



TOTA S FE 2 FH A oy Al o gl g s i e e seafas gafaa -
(A  s=fiz i

(B) @ W 12 & o A e & favan —afrada 4
(C) 9P el o fefv gk |ent R fonden 3

D)  Aete FHEAH

e oo o fareedi 9 4 w9 3w o = frfe

[Question ID = 10848][Question Description = 148_82_Forensic_Science_0CT22_Q48]
1. (A). (D) only

Faed (A) 310 (D)
[Option ID = 13389]
% (A). (B) only
Fael (A) 31 (B)
[Option ID = 13390]
3. (B). (D) only
Fda (B) 31 (D)

[Option ID = 13391]
4. (B). (C) only
FH (B) #1 (C)

[Option ID = 13392]

49) Depth of focus dirvectly depends on which of the following ?

(A)  Colour of film

(B)  Aperture

() Focal length of the lens
(D)  Lavers on film

Choose the correct answer from the options g:_iven below :
e o e o o o e gy 27
(&)  Trem 1 (B) T
(C) w9 % FFel Ay D) fsew o

11 faw amu foredi 6 & @ 3 o =1 Fifau

[Question ID = 10849][Question Description = 149_82_Forensic_Science_0CT22_Q49]
1. (A). (B) only

Faet (A) W (B)

[Option ID = 13393]
2. (A). (C) only

Fad (A) 31 (C)

[Option ID = 13394]
3. (B). (C) only

A (B) 4 (C)



[Option ID = 13395]
4. {A), (D) only

Fa (A) F1 (D)

[Option ID = 13396]

50) Following patterns or marks are represented in case of glass fracture.

(A) Conchoidal patterns or marks
(B) Wallner poll patterns or marks
(C) Hackle patterns or mavks

(D} Mirror patterns or marks

(E) Non ripple patierns or marks

Choose the correct answer from the options given below :
A e 5w | i Ted s foe fomd 2 -
(A)  =HiEEEe Yed Fud) e
(B) et diet Ted swa fees
(©) 7 T2 s fe
(D) T it s faes
(E)  AH-Tge Tad weEn fa=
S fom  fasredi 4 6 661 391 #1991 i

[Question ID = 10850][Question Description = 150_82_Forensic_Science_0CT22_Q50]
1. (A). (B). (D) only

¢ (A), (B) 31 (D)

[Option ID = 13397]
2. (A)(C), (Dyonly

e (A). (C) ¥ (D)

[Option ID = 13398]
3. (B). (C). (E) only

#4¢ (B). (C) #N (E)

[Option ID = 13399]
4 (B). (C), (D) only

#4# (B). (C) 31 (D)

[Option ID = 13400]

31)  Paint consists of following three principle components namely.
(A) Binders
(B Varnish

() Pigment
{D) Solvent

Choose the correct answer from the options given helow !



o (W2) 1 gera: fF dd 21 2 -

(A)  amEE
B A
(€) Tz
(D) Hiedz

7= fao T famedl 1 3 w1l 3 %1 =ga it
[Question ID = 10851][Question Description = 151_82_Forensic_Science_0CT22_Q51]
1. {A). (B), (D) only
Fael (A), (B) 3 (D)

[Option ID = 13401]
2. (A), (€). (D) only

FAe (A). (C) 3T (D)
[Option ID = 13402]
3. (B). (C). (D) only
F4e (B), (C) 31 (D)

[Option ID = 13403]
4. (A). (B). (C) onl¥

Fdel (A). (B) 31 (C)

[Option ID = 13404]

52) The methoed or recovery or eollection of fiber from erime scene include

(A) Collection using magnetic brush
(B) Surface debris taping

(&) Scraping

(D)  Vacuuming

Choose the correct answer from the options given helow :

ST § 197 WITH areE Suw wEEfa @ anfie -

(A) A T TG AT
(B)y ¢ qerEn (I0Ed 25) #hin
(€)=

@)  Awgfa

Hr Tao mu fasei 9 1 w1 3 & =ea it

[Question ID = 10852][Question Description = 152_82_Forensic_Science_0CT22_Q52]
1. (A). (B). (D) only

Fae (A). (B) 37 (D)

[Option ID = 13405]
2. (A), (B). (Q) only

Fad (A). (B) 311 (C)



[Option ID = 13406]
3. (D). (A), (C) only

Fad (D). (A) 317 (C)

[Option ID = 13407]
4 (B). (C). (D) only

Faw (B). (C) 31 (D)

[Option ID = 13408]

53) Which of the following Broadman areas coincide with Broca’s area responsible for speech

production?

{A) Area-41
(B) Avea-42
(C) Avea-44
(D) Area-45

Cheoose the correct answer from the options given helow :

et fui = Haw d sieiq & Frsifera v s & ot @ e 2 -

(A ufEr4i
(B) w4
(C) uiE44
(D) Ui 45

31 fev o farei § 9 o) e w5 =99 o

[Question ID = 10853][Question Description = 153_82_Forensic_Science_0CT22_Q53]
- (A) and (B) only

A (A) i (B)

[Option ID = 13409]
2. {A)and (C) only

e (A) 311 (C)

[Option ID = 13410]
3. (B) and (C) only

Fae (B) 317 (C)

[Option ID = 13411]
4. (C) and (D) only

Fae (C) 3T (D)

[Option ID = 13412]



54) Which of the following are sub-divisions of semivowel in context of its manner of
articulation?
(A) Glides
(B) Nasals
() Voealic nuclel
(D) Ligquids

Choose the correct answer from the options given helow :

TETIV] o A o e U, s - F - TaT - a7

(A) RS

(B) AT

(C) ATkl =i
M) fafrza

= few o oyl § 5 w39 =) = e

[Question ID = 10854][Question Description = 154_82_Forensic_Science_0CT22_Q54]
1. {A) and (B) only

Fa (A) W (B)

[Option ID = 13413]
2. (A)and (C)only

& (A) 3 (C)

[Option ID = 13414]
3. (A) and (D) only

F9e (A) 3 (D)

[Option ID = 13415]
4. (B) and (C) only

Fad (B) 317 (C)

[Option ID = 13416]

55) Following are the defects found in the tvpe impressions :

(A) Shippage of the paper so that successive lines are not parallel
{(B)  Actual breaks in the letter impressions or characters

(C) Skipping of a space after certain letters

(D) Stacking of letters on the rght side

Choose the correct answer from the options given below :

FFI WM U I i O 9wl @
(A)  FrrH ) e T s Uil SR T el
(B) e 1w O apetas 5790 (39 )

(C)  33em Fo9id o &1 s
@)  arfedt s greE) 1 sifesa
{4 T o fasred i 0 @ w8 3 o = Fifem



[Question ID = 10855][Question Description = 155_82_Forensic_Science_0CT22_Q55]
1. (A, (B) and (D) only

Fde (A), (B) 3T (D)

[Option ID = 13417]
2. (B). (C) and (D) only

F44 (B). (C) #=1 (D)

[Option ID = 13418]
3. {(A). (C)and (D) only

F4e (A). (C) 31 (D)

[Option ID = 13419]
4. (A}, (B)and (C) only

F44 (A). (B) 31 (C)

[Option ID = 13420]

56) The secret writings. written with the following. can be detected and deciphered by gently
heating the document ;

(&)  DMilk

(B) Dilute agueous solutions of carbon nitrate
() Vegetahble juices from lemon or onion

(D) Sahva

Choose the ¢orrect answer from the options given below ;

ferifera & ae oo o e onga s v ST o aareR e s A #: - e 9 4w e =
|
@ @
(B)  oTa= ATEEE % SFATY TR Feohl
(C) i 3o wars 1 H
Dy =
4 fau m fagedi o & wd 3w = fifa
[Question ID = 10856][Question Description = 156_82_Forensic_Science_0CT22_Q56]
1. (A), (B) and (D) only
F (A), (B) 31 (D)
[Option ID = 13421]
2. (A), (B) and (C) only
e (A). (B) 7 (C)

[Option ID = 13422]
3. {A)and (C) only
Fae (A) 30 (C)

[Option ID = 13423]
4 (A) and (B) only



A (A) 31 (B)

[Option ID = 13424]

57)

1.

Section 320 of the IPC designates several tvpes of hurts (injuries) as grievous

{A) Emaseculation
(B) Fracture or dislocation of a bone or tooth

(C) Eemoval of head hair

(D
(E

) Permanent disfiguration of the head or face

) Cauzing bodily pain to a person

Choose the correct answer from the options given below :

YRy g2 -uign A & am 320 9 B = 9 g w Ev

(A)  HHE FTH]

(B) @&l S9E 774 H1 22 AAF1 R

(C) il & arell &1 e

D) o srgan =3 e s @ faefrm s
(E) ol mafae =) onfadren 22 3290

A1 T T 9 | w71 3 %1 FEE e

[Question ID = 10857][Question Description = 157_82_Forensic_Science_0CT22_Q57]

(A). (B) and (D) only

Fael (A). (B) 3T (D)

[Option ID = 13425]

(Ayand (B) only

= (A) 3117 (B)

[Option ID = 13426]

{A), (D) and (E) only

#45 (A), (D) 51 (E)

[Option ID = 13427]

(A). (C) and (E) only

F96 (A), (C) 3 (E)

[Option ID = 13428]

58)

While estimating stature firom long bones using regression formulae

{A)
(B)

(©)

(D)
(E)

Uze formulae bazed on the most recent data.

Combine formulae obtained by different mmvestigators. based on different races or
populations 1n different geographical areas.

Bones should he measured in exdetly the same way as suggested by the author of the
formula.

It 15 adwisable to use more than one long hone. if poszible.

Instead of leg bones. use arm bones which give better estimates of stature.

Choose the correct answer from the options grven below :



aferre st 0 39Em # 4r S | FEE @ SHEE S F

(A)  HAHETE & 321 T S BT F 3 F

(B)  Tafim vrmifers el | Al wenfadl sae s=@En w saia G s=mE & S ) a5 #

(C)  ifeerdi =1 v wnden daw F53 = S A A =t

M)  UFH i E w1 = aEm (dfE wsa 7)) s e

(E) 1wl i o aie 1 #2299 o w1 390 warE F ded SHAE ued 7

et oo o fesred1 0 6 A 3 1 =Eq Fif
[Question ID = 10858][Question Description = 158_82_Forensic_Science_0CT22_Q58]
1. (A), (B) and (C) only

Fael (A). (B) 31 (C)

[Option ID = 13429]

2. (A). (D) and (E) only

e (A), (D) =1 (E)

[Option ID = 13430]
3. {A). (B)and (E) onlv

FAA (A, (B) 31 (E)
[Option ID = 13431]
4 (A), (C) and (D) only
#A (A), (C) 31 (D)

[Option ID = 13432]

59) Which of the following are important characteristics for the examination of Infrared spectra
of a drug?

(A) Shape of peak
(B) Position of peak
()  Intensity of peak
(D) Tangent of peak

Choose the correct answer from the options given below :

St & ganTe wiEe i A o fer Faeifers § @ 13—t Fanand seef 27

A)  fowER () w1 wmEn

B TR (i) F

(© P (9F) FogEa

D) FumaE (i) wyeii

1 fw o feepedl O 8 Had 39 300 1 19 il

[Question ID = 10859][Question Description = 159_82_Forensic_Science_0CT22_Q59]
1. (A) and (B) only

A (A) N (B)

[Option ID = 13433]
2. (B) and (D) only



4.

1.

a6 (B) =11 (D)

[Option ID = 13434]
3. (A). (B) and (D) only

Fael (A), (B) 391 (D)

[Option ID = 13435]

(A). (B) and (C) only

& (A), (B) 311 (C)

[Option ID = 13436]

60)

What 1= the correct arrangements of components in Atomic Absorption Spectrophotometer?

(A) Flame atomizer

(B) Meonochromator

(C)  Photomultiplier tube
(D) Chopper

{E) Hollow cathode lamp

Choose the correct answer from the options given below :

u e USHTR SRl 4 e % He #E 2t

(&) Ay e

(B)  HHEmEHEA

(C) W2 He2 eATad =

(Dy AW

(E)  #Tell F412 &g

dra fau 1 fasdi | 4 @@ 39 31 =99 ifau .

[Question ID = 10860][Question Description = 160_82_Forensic_Science_0CT22_Q60]

(E). (D). (A). (B) and (C) only

FAA (E), (D). (A). (B) 37 (C)
[Option ID = 13437]

(C). (D). (A), (B) and (E) only

F4a (C), (D), (A). (B) 311 (E)

[Option ID = 13438]
- (E). (B). (A). (D) and (C) only

4 (E). (B). (A). (D) 37 (C)

[Option ID = 13439]

(E). (B), (D). {A) and (C) only

#da (E). (B). (D). (A) 3717 (C)

[Option ID = 13440]



61) The following arve exammples of double immune-diffusion assays based on precipitation

reactions -

(A) Oucheterlony assay

(B) Radial nnmune-diffusion assay
(C) Oudin assay

(D) Ring assay

(E) Oakley — Fulthorpe as=ay

Choose the correct answer from the options given below :
sTAEY| sl W saiE g 3 forem & Faem frafafaa 8
(A)  HTIHSTEA Uy
(B)  ifze sgA-TewEn vl
(C)  =msfzum
(D)  fmny
(E)  siTshel—Fedrd i3
=t T o fembedy O & WaH 39T 3 1 JE e

[Question ID = 10861][Question Description = 161_82_Forensic_Science_0CT22_Q61]
1. (A), (B) and (D) only
Fel (A). (B) 5T (D)
[Option ID = 13441]
2. {A), D) and (E) only
Fe (A), (D) 37 (E)

[Option ID = 13442]
3. (A) (B) and (€} only

Fael (A). (B) 31 (C)

[Option ID = 13443]
4. (A), (C)and (E) only

F4e (A). (C) 30 (E)
[Option ID = 13444]

62) Which of the following disease is caused by mercury poisoning?

(A) Rain drop pigmentation
(B) Minimata digease

(C)  Mercuria lentis

D Danbury tremor

Choose the corvect answer from the options given below :



frerferfraer 4 & 20 a0 ww FETeERaT S FE a7

(A) = femse

B) T
(C)  wergie wff=s
(D) S=AIR

1 o Ferapend o 9 warf) 3ger TeR o) =a e ;
[Question ID = 10862][Question Description = 162_82_Forensic_Science_0CT22_Q62]
1. (A). (B) and (D) only

#A (A). (B) 51 (D)

[Option ID = 13445]
2. (B), (C)and (D) only
4 (B). (C) 31 (D)

[Option ID = 13446]
3. {A). (B) and (C) only

FAA (A), (B) 31 (C)
[Option ID = 13447]

4. (A). (C) and (D) anly
FA (A) (C) 3T (D)

[Option ID = 13448]

63) The main factor attributing to the degree of scorching is

(A) Weight of propellant
(B) Type of weapon

{(C) Pressure produced

(D) Shape and size of bullet

Choose the correct answer from the options given below :
T 3 9T 4 AErE 3 Al g F
(A)  SVIIEE 1 4R
(B)  #fusm 1 vam
(C) ERERAD]
(D)  Hefe 1 i vd s
T o foeredl d 6 #e9 39 30 1 =5 Fifn

[Question ID = 10863][Question Description = 163_82_Forensic_Science_0CT22_Q63]
1. (A) and (C) only

Fae (A) 31 (C)

[Option ID = 13449]
2. (A)and (B) only

FAA (A) 3 (B)



[Option ID = 13450]
3. (B)and (C)only

ae (B) 31 (C)

[Option ID = 13451]
4. (C) and (D) only

FAw (C) 31T (D)

[Option ID = 13452]

64)
Which of the following are soft biometries?
(A) Lip motion
{B) Tattoo
(C) Periocular
(D) Odour
Choose the correct answer from the options given below :
freaferfiaa 44 %0 4 gz sz 87
(A) st (fom H5EE)
® %
(C)  Hfamen
D 7=

A few wmu ferepedi o 9 w9 30geR I ) = e :

[Question ID = 10864][Question Description = 164_82_Forensic_Science_0CT22_Q64]
1. {A) and (B) only

FHe (A) 31 (B)
[Option ID = 13453]
2. (A) and (C) onls

#aA (A) #(C)
[Option ID = 13454]
3. {A)and (D) only

Fd (A) 1 (D)

[Option ID = 13455]
4. (B) and (C) only

o (B) 371 (C)

[Option ID = 13456]

65)

‘Which of the following statements are correct in caze of narrowband specivogram of speech?

(A) The darker bands represent harmonies closest to peak of resonance in voeal tract
(B) The precise frequency of a formant 1= easily observed from a narrowband spectrogram
(C) The bandwidth of the filters used to generate narrowband spectrograms 1s 30-30 Hz

(D) Timing of changes In vocal tract resonances 1s more reliably ohtained from
narrowhkand spectrogram

Choose the correct answer from the options given below :



amfi % 379 DIFIW % 4T | FefEiEd 4 8 wmh-m aem w8 w0
(A) e we iz afa afern O sgEaa £ satE & ey s 5 5 |
B) T wite £ adm sl e Segum 3 S e ad 2
(C)  FA= wrEanm Y2 # ¥ o g o) stm el feeed ) d= e so-sosda 2
(D) A Al S5 8 9iddy # 59 e vy d sl fvaadE s 3 a2
1y feu oo fereed| 4 8 Hard 3w 200 o) =49 e
[Question ID = 10865][Question Description = 165_82_Forensic_Science_0CT22_Q65]
1 {A) and (B) only
FA (A) 370 (B)

[Option ID = 13457]
2. (B) and (C) only

Fad (B) 3117 (C)

[Option ID = 13458]
3. {(C) and (D) only

F4 (C) 31 (D)

[Option ID = 13459]
4. (A) and (C) only

Fad (A) 31 (C)

[Option ID = 13460]

66
) Match Tast T with List IT
List I ListII
(A} Inguest (I}  Cross Examination
(B) Conduct Money (II) Police
(C) Leading quesfion (IIT) Body of crime
(D) Corpus delieti (IV) Witness
Choose the correct answer from the options :
e T % w1 =N o figera fsm
HeA1-T HeA-I1
(A)  geg Al (D i adien
(B) =¥ wH ID i
(C) ¥ uH (IID) =& A ey
(D) IR @V) e

Jrt oo oo fgadi 0 3 99 3o o = A

[Question ID = 10866][Question Description = 166_82_Forensic_Science_0CT22_Q66]
1. (AID, (Bi-(IV). (C)«(D), (Dy-(I01)

[Option ID = 13461]



2. (AT (Bi-(II), (C)-(IV). (D)D)

[Option ID = 13462]
3. (A)-AIV). (B)-(D). (C)III). (D)-(II)

[Option ID = 13463]
4. (AD). (B)-(IIL), (C)-(ID), (DHIV)

[Option ID = 13464]

67) Mlatch List I with List II

TistI Last IT
(Tomzation technigues of (Incident beam)
Mazz Spectrometiy)
{A) AMALDI (I} High energy beam of ions
(By FAB (I) Ionized reagent gas
(C) SIMS (III) High-intensity photons
Iy €I (IV) Neutral atoms

Choose the correct anawer from the options :

H=A1 1 = 914 115+ =1 e fifsm

-1 I
orA Tzl F s aaiE sifera s
(&) o uuE @ el A 3R e fEnga
(B) wHuH (D) S e
(C) wH ¥R U (IT) 3 i e FR
(D) 43w vy fafera v

A fau T faeed | | | 3 o = Fife
[Question ID = 10867][Question Description = 167_82_Forensic_Science_0CT22_Q67]
1. (A)-(IID). (B)-{IV). (Ci-(D). (D)=(II)

[Option ID = 13465]
2. (A)I), (B)-IT), (C)-(II), (D)-(IV)

[Option ID = 13466]
3. (AT (B -1 (C)-(I1). (D)-(IV)

[Option ID = 13467]
4 (AN -ID. (B)-(IV). (C)-IID). (D)-(T)

[Option ID = 13468]



68)

Match ILast T with List TT
List I List I
Blood Group Syvatem Chromosomal Location
(A) MNS (I} 9gq34.2
(B) Duffy (IT) 4g31.21
(0) Eaidd (IIT) 18gl2.3
(D) ABO {IV) 1g23.2

Choose the correct answer from the options :

HA T = iy 5= =1 faen=

Y11 A
F HHE Tl oA et
(A) THTHTH (D o9&@34.2
(B) FFUEUEAE (D 47 31.21
(C) FELH (D) 18 %1 12.3
(D) wdl (IV) 1#23.2

i e oo el 8 4 well 39 =1 =1 i ;
[Question ID = 10868][Question Description = 168_82_Forensic_Science_0CT22_Q68]

1. (A)I). (B)«(IID). (C)-(I1). (D)-{IV)

[Option ID = 13469]
2. ATV, (By=tID). (C-(IID). (D)y=(I)

[Option ID = 13470]
30 (AN, (By-(IV), (C)-{T). (D)«(IT)

[Option ID = 13471]
4. (A)ID, (B)-(IV). (C)-(HL, (D)D)

[Option ID = 13472]

69)  Match List T with List TI

TList I List IT

Drug Schedule Drug Name
{A) Schedulel (I}  Morphine
{B) Schedule II (I} Diazepam

(C) Schedule ITI (ITI) Heroine
(D)  Schedule IV (IV) Anabolic steroids

Choose the correct answer from the options



g 1 % |4 11 7= &1 faer sfan

11 HHI-II
1 A 31 M
(A) AT @ =R
(B) I Iy =g+Im
(C) Pt [T (D) =
(D) S IV (AV) U sarig
A1 fau o farsredt 4 | well T o =gA T

[Question ID = 10869][Question Description = 169_82_Forensic_Science_0CT22_Q69]
T (A, (B)-(IV). (C)-(D). (D)-(ID)

[Option ID = 13473]
2. (AM(IIDY. (B)-(I). (C)-(IV). (D)-(IT)

[Option ID = 13474]
3¢ (A, (B)-(IIL). (C)-OD). (D)-(IV)

[Option ID = 13475]
4. (A)IV). (B)-tIID. (C)IL). (D)-(D)

[Option ID = 13476]

70)  Match List T with List IT

List I List IT
Firearms Number of groves
(A) AR47 Iy, 6
(B) The Indian service 0.38 revolver (II) &
(C) INSAS (III) 4
(D) Pistel (V) 7

Choose the correct answer from the options :

a1 T = w4 T1 g=h =1 fgere $fso
HA-T q1-11
A i = HEn
(&) U - 47 @ 6
(B) wifz@afEy 038 fraen @D s
(C) =z~ (WD 4
(D) frea awy 7

4 v o el O 8 a3 g 99 i .
[Question ID = 10870][Question Description = 170_82_Forensic_Science_0CT22_Q70]
T (A)-(IT). (B)-(IIT). (©)-(IV). (D)-(D

[Option ID = 13477]
2. (A)(IV). (B)-(IID). (C)-(D). (D)-(ID)



3.

4.

[Option ID = 13478]

(A)-(III). (B)-(T). (CH-(IV). (D)-(1D)

[Option ID = 13479]

(AJ(IIT). (B)-IV). (C)-(D). (D)-(ID)

[Option ID = 13480]

71 ; . .
) Match List I with List IT
List I Tist IT
(Book/Theory proposed/ (Author/Thinker/Name of Theory, etc)
Characteristics. etc)
(A) Alligatoring (Iy  Formation of iiveégular cracks in the glass.
(B) Crazing (II} Chared wood that looks like alligator skin
(C) Depth of char (III} Boundary between burnt and unburnt areas
(D) Line of demarcation (IV) How deep the wood is burnt indicates the length of burn
(E) Spalling (V) Breaking off. surface pieces of concrete and brick
Choose the correct answer fromi the options :
HeI-1 HIT
e | e farara o | = | faera 51 M wiE
(&) uferredm @ i | i e o
B) Fbm (I1) =2 9% i a7 il w== = i i 2

1.

(C) =9 3 =N
(D) A AF TearEe
(E) #qier

(ID) et 7 ve forn 576t 20 & o 5ed i
(IV) Toramn e s o] wefl #1dl & 97 Toid il oars &1 g9 &
(V) iz 3iu 92 ) w1 A

41 few oo foaredi 1 8 ) 390 o) = fifem -

[Question ID = 10871][Question Description = 171_82_Forensic_Science_0CT22_Q71]
(A)-(ID). (B)-I), (C)-(IV), (D)-(IIL). E-(V)

[Option ID = 13481]

2. (ATII). (B)«II). (C)-(IV). (D)-(T). E-(V)

3.

4.

[Option ID = 13482]

(A} -(TV). (B)-(IL), (C)-(V). (D)-(IIT), E-(T)

[Option ID = 13483]

(A)-(D), (B)-(IL), (C)-(IV). (D)-(I11). E-(V)

[Option ID = 13484]



72
) Match Last T with List TT

List I List II
{Paint tvpe) (Component)
{A) Automotive Paint (I} Acrvlic Enamel
{B) Architectural Paint (IT) Polyvinyl acetate
()  Industrial Paint (IIT) Stoving Enamels

(D) Older Art Object Coating paint (IV) Wax and Resins

Choose the correct answer from the options :

HqAl T o vy 11 = =1 firens il

-1 g1
e ] T BEE
(A) et @M ol e
(B) e U @) uidifATREs i
(C) i U= (IIT) #2170 g

(D) EH1 el aEq sl 1 7 are i (@IV) d& =iw ifg=g

1 v o faepenti O 1 |t 3 i = Fifa
[Question ID = 10872][Question Description = 172_82_Forensic_Science_0CT22_Q72]

1. (AT, (B)-(IL). (Cy-(I11). (D)-ITV)

[Option ID = 13485]
2. (A)AII). (B)-(IVy, (C)-(Iy, (D)~(IID)

[Option ID = 13486]
3. (A)(III). (B)-(I), (C)-(IV). (D)-11ID

[Option ID = 13487]
4. (A)(IV). (B)-(TI). (C)~(I). (D)~(III)

[Option ID = 13488]

73) " Mateh List I with List II
List I Last II
(Contributor) {Contributions)

{A) Francis Galion (I} First to 1dentify the presence and location of volar pads
on the hands and feet

(B) Arthur Kollman (IT} First hook on fingerprint

(C) William Herschel (III) First person to study the persistence of friction 1de
skim

(D) D.J.CA Mayer (IV) First to write the fitction mdge skin is unique

Chaose the correct answer from the options :



A 1 % =19 119 1 e Fifau

HA-1
(A) wITE e @)
(B) =141 #leiiA
(C) T w5
(D) & .Hu gpn

4 fau o Tl ° 8 |58 3 @ = it
[Question ID = 10873][Question Description = 173_82_Forensic_Science_0CT22_Q73]
(AN(IT), (B)-(IID, (C(I), (DY-IV)

1.

[Option ID = 13489]
2. (AWID. (B)-Iy, (C)-(III). (D)-(IV)

[Option ID = 13490]
(A)-IIT), (B)I), (C)-(ID), (D)-{IV)

3.

[Option ID = 13491]
4. (A)IV). (By-(IT) (O)-(D). (In-(I1T)

[Option ID = 13492]

74)

Match List T with Tist IT

Last I

Photocopiers — Toner tvpe/Toner fusion

(A)

(B)

(C)

(D)

Liguid toner

Diyv toner and heat and pressure
fusion method

D1y tonner and Radiant heat fusion
method

Drv toner and cold pressure fusion
methed

Choose the correct answer from the options :

111

2ueft 3R e =i Tfeafy va a6 aEugn geEE FE T
an fEmiee (sfiemn ) @ adaes g
(AID) et 1 # A1 % a4 T2 A sl # ua sy

Last IT

Characteristics observed under microscope

(I)

(IT}

(IIT)

(IV)

The toners appears as Lguid tar
having bubbly appearance

Toner particles appear as if 1t could be
readily removed from the paper by

scraping

Individual toner  particles  are
dizcernible with compacted
appearance.

Toners appear to have dyed individual
fibres and appears as even. thin,
coating through which paper fibres
can be seen gquite clearlv.



gt I % dva 11 g+t =1 fgenm Fifsm

(A)
(B)

(C)
(D)

-1

=111

TRTETERT 1AL WohT, |/ 2T W qenasii 4 ufera fawme
feffaars 2

@ 2 aerEel S foad a9 wel qw F w0 i g #
£

g sz v e HeEa fafs (D 3 # v faed F el S wE e e | i

AT S A

2 7 A fafFs s wemA fafa QI g9 -ua 2w gfen fead 8 _
=& 31 viA e faf @IV) a9 O ifem uME-uaE FEE uHh w2 s g

waE, Tdel, qAE Tk wery @ iur EEeEr &
e DI F0 H 2 1A 2, 8 I e E

41 feu o fasredi O 9 @l 3o @ = il

[Question ID = 10874][Question Description = 174_82_Forensic_Science_0CT22_Q74]
T (A, (B)(II). (C)«(II). (D)(IV)

[Option ID = 13493]
2. (A)(II). (B)-(IV). (C)-(I). (D)-(I1I)

[Option ID = 13494]
3. (A)IID). (B)«IT), (C)-(IV). (D))

[Option ID = 13495]
4. (A)IV), (B)-(III), (C)-(I). (D)H-(IT)

[Option ID = 13496]

73) Mateh List I'with List IT
Last I Lazt IT
(Mass Analyzer) (Principle of analysis)
{A) Double focusing (I}  Equal kinetic enerey ions enter drift tube
{(B) Time-of-flight (I} Deflection of 1ons in magnetic field
(C) Quadrupole (IIT) Ton motion in DC and radio-frequency fields
() Alagnetic sector (IV) Electrostatic focusing followed by magnetic
field deflection
Choose the correct answer finm the options :
g1 T % s I =R s figerm ifee
HA1-1 111
urH faver Feggerao) %1 firgm
(A) = HHRT (O = A FE] s gaE Al 3 a6 §
(B) ZrEH 3 FEL (ID) T & 5 HRHI 1 e
(C) =g (1) & =i v i) sala am 4 2rm & afa
(D) Wi G (IV) S &m fae & g el wies

St v o fomredi o 8 ) 37 s =i s
[Question ID = 10875][Question Description = 175_82_Forensic_Science_0CT22_Q75]
T (A, (Bi<D), (C)-(IV). (DI«ID

[Option ID = 13497]



2. (A)(ID). (B)-(IID). (C)~T). (D)-(IV)
[Option ID = 13498]

30 {A)AD). (B)-(IV), (C)-(IT). (D)-(I1T)

[Option ID = 13499]
4. {AIV) (B)-(I), (C)-(I11). (D)-(II)

[Option ID = 13500]

76)  What 12 the sequence of analvsis by non-destructive Neutron Activation method?

(&) Counting

(By  Simultaneous irradiation of samiple and standards with neutrons
(C) Data processing and read out

(D) Cooling period

Choose the correct answer from the options given helow :
AfAeAH! =i+ At fafa gw faverm & 98 #5 FR |27
(A)  TE
(B)  wfergyl afn wrhl %1 =i F wmy -y spfafem
(C)  @AfFal FHMA Ua SEalsH
(D)  wiider e

A7 faw rm Fasredi | @ 5dl 398 =1 = e -

[Question ID = 10876][Question Description = 176_82_Forensic_Science_0CT22_Q76]
1. (B). (A, (D) and (C) enly
#47 (B), (A), (D) 31 (C)

[Option ID = 13501]
2. (D), (B). (C) and (A) only

F4e (D), (B). (C) 3% (A)

[Option ID = 13502]
3. (B). (D). (A) and (C) enly

F451 (B). (D). (A) 30 (C)
[Option ID = 13503]
4 (A). (B). (C) and (D) only
#4e (A). (B). (C) =W (D)
[Option ID = 13504]
77) Which of the following is the correct sequence (descending order) of Intensity distribution of
continuum radiation from an X-ray tube with a tungsten target?

(A) Relative intensity at 50 &V
(B)  Relative intensity at 40 kV
(C) Relative intensity at 35 kV
(I Relative intensity at 30 kV

Choose the correct answer from the options given below :



SR T AT T 2 o HTee e & dffren B o 88 e (saEd gn) FefalEe 5 3 em e
a7

(A) S0 1 T HTIE A

(B) 40 % wANE diFw

(C) 355 = wanEdign

(D) 30%F =19 A diga

e fere o ferspeai O & o) 39 = e il
[Question ID = 10877][Question Description = 177_82_Forensic_Science_0CT22_Q77]
1. (A). (€). (D) and (B) only

F4e (A). (C). (D) ¥ (B)

[Option ID = 13505]
2. (A). (B). (C) and (D) only

Fe (A), (B, (C) 31 (D)
[Option ID = 13506]
3. (D). (A) and (B) only
Fad (D). (C). (A) 31 (B)
[Option ID = 13507]
4. (D). (C). (B) and (A) only

F34 (D), (C), (B) i1 (A)

[Option ID = 13508]

78)  Which of the following is the corvect sequence of metabolism of ethanol?

(A) Apetic acid

(B) Acetaldehyde

Q) Acety] coenzyme A
(D) CO3 and wafer

(E) Irebs cvele

Choose the correct answer from the options given below :

veETA F I ) 99 F efafEa g g w20

(&)  uiafes fs
(B) vuiaenfezams

(C)  ufEfEa FmsmEn o
(D)  FTEsEETE i
(E)  eH a9

A feu o faedi 4 9 |81 39 & = i

[Question ID = 10878][Question Description = 178_82_Forensic_Science_0CT22_Q78]
1. (B). (4). (C). (E) and (D) only



#a (B), (A), (C), (E) 3 (D)

[Option ID = 13509]
2. (A), (B). (C). (E) and (D) only

F4e (A). (B). (C). (B) #1 (D)
[Option ID = 13510]
3. (B). (A). (E). (C) and (D) only

#99 (B). (A). (E), (C) 3% (D)

[Option ID = 13511]
4 (B). (A). (C). (D) and (E) only

F4e (B). (A). (C). (D) 4l (E)
[Option ID = 13512]

79) The process of concentrating a sample using direct solid phase microextraction (SPME) of an

prganic compound In an dquecus sample can be done in which of the following sequence?

{A) Place the sample n a vial
(B) Expose the SPME fibre to the agueous sample
(C) Clean tﬁe SPME fibre
(D) Retract the fibre into the SPME holder
(E)  Agitate the sample solution by sonication for 10 min
Choose the correct answer from the options given helow :
forat refi afsle wreife e & geaed 3 s sadn g aifers B argsoFETE (i)
1 v e = s <61 g Feferfaa 8 8 frm smaa o s aadi &
(A)  ufeesl 1 siisfi § v
(B)  tedra wides) & v o Uy § EEe & g gu w5
(C) R Y FEG | HE FE]
(D) Uy vy S ane H EEE ST
(B) 10 fie o sk g wfhes Few 1 e

4= o mu e g 9 a9 3w = e

[Question ID = 10879][Question Description = 179_82_Forensic_Science_0CT22_Q79]
1. {A), (C). (Bl (E) and (D) only

F4 (A), (C). (B). (E) 31 (D)

[Option ID = 13513]
2. (C), (A), (B). (E) and (D) only

F (C). (A). (B). (B) 31 (D)

[Option ID = 13514]
3. (A). (C). (B). (D) and (E) only

#a4 (A), (C), (B), (D) N (E)

[Option ID = 13515]



4. (Q), (B). (A), (D) and (E) only

F4el (C), (B). (A). (D) #H (E)

[Option ID = 13516]

80) In 5.56 mm INSAS fixed butt rifle alrange in sequence the different components from its
muzzle end
(A) Stock
(B) Barrel
(C) Magazine
(D) Bayonet
(E) Trigger

Choose the correct answer from the options given below :

5.56 finfl, 3= s w12 T2Fa 4 300 woe an 4 [iys 9o 71 sgwn 1 sgafiem fifsm;

(A) =

(B) e

(€ Tl

(D) AN

(B fom

1 fow oo Faeedi 6 & |t e o = i

[Question ID = 10880][Question Description = 180_82_Forensic_Science_0CT22_Q80]
1 (D). (B), (€). (E) and (A) only

F4e (D). (B). (C). (E) 31 (A)
[Option ID = 13517]
2. (B). (C). (E). (A) and (D) only

#4d (B). (C). (E). (A) 3T (D)

[Option ID = 13518]
3. (D), (B), (E). (C) and (A) only

#ad (D), (B), (E), (C) #HF (A)

[Option ID = 13519]
4. (B}, (E). (C). (D) and (A) only

FAe (B), (E), (C). (D) 31 (A)

[Option ID = 13520]

81)  Arrange the following riflés in ascending order of their barrel length

(A) 7.62 self loading Rifle
(B) KalashnikovAK-47
(&) Enfield

(D) IINSAS 5.56 service rifle

Choose the correct answer from the options given below :



Feferfia Tt 1 35 e i etead % v S 0 |

(A) 7.6 HFF AT TEEA
(B)  HIANSHE U H 47

-

{(C) IHE

(D) ™ 5.56 AfFH TEFA

et v oo fosred § & & 39 = ofifao

[Question ID = 10881][Question Description = 181_82_Forensic_Science_0CT22_Q81]

1.

{B). (4). (C) and (D) only

4w (B), (A). (C) 371 (D)

[Option ID = 13521]
2. (C). (A). (D) and (B) only

F (C), (A), (D) 31 (B)

[Option ID = 13522]
3. (D) Q) tA) and (B) only

F4e (D), (C). (A) #F (B)

[Option ID = 13523]
4 (B). (D). (A) and (C)only

Fad (B), (D). (A) #F (C)

[Option ID = 13524]

82)

For performing Bromoform test of cement to identify adulteration. the correct sequence will
be?

(A) Vigorous Shalking

(Bj Sieving

(Cy Heating

(D) Cement 12 mixed with Bromoform in a test tube

Choose the correct answer from the options given helow :

Tigetrae o1 uan oA 3 Tero il s e whem 0 o fam fFafahad @ 9d e =0 am?

(A)
(B)
(©)
(D)

Bl

ERENE el
A
T FH

Wk Gl d @ S F R % A1y et s 2

faw amu Farared i 4 & et 3o = s i

[Question ID = 10882][Question Description = 182_82_Forensic_Science_0CT22_Q82]
- {A), (B}, (C) and (D) only

#4e (A), (B). (C) 311 (D)

[Option ID = 13525]



2. (D). (B). (C) and (A) only

#del (D). (B). (C) 31 (4)
[Option ID = 13526]

3 (€. (A), (D) and (B) only

F94 (C). (A). (D) 21 (B)

[Option ID = 13527]
4. (B}, (C), (D) and (A) only
@l (B), (C), (D) 31 (A)

[Option ID = 13528]

83)  The correct sequence of various phases of an irs recognition svstem is :

(A} Image Acguisition

{B) Image Enhancement

{C) Localization and normalization

(D) Feature extraction

(E) Comparizon

Choose the correct answer from the options given below :
At Trerifaem famm & fafva =oon =1 w0 #9 1 w:
(A)  wiafes-sifnia
®)  ulafms-wa
(C)  =rTaeram) St arar=Ta|
D) st -
(E) de

4= fau v Fopreai 4§ 5@ 3 9 e e

[Question ID = 10883][Question Description = 183_82_Forensic_Science_0CT22_Q83]
1. (A). (B), (C). (D) and (E) only

FT (A), (B), (C), (D) 30 (E)

[Option ID = 13529]
2. (A), (C). (B). (D) and (E) only

Fae (A), (C). (B). (D) 31 (E)

[Option ID = 13530]
3. {A). (D). (B). (C) and (E) only

#4e (A). (D), (B), (C) =N (E)

[Option ID = 13531]
4. (A). (B). (D). (C) and (E)only

49 (A). (B). (D). (C) 3T (E)

[Option ID = 13532]



84) The correct sequence of stages in a typical finrerprint minutiae extraction algorithm is;

(A) ERidge location

(B) Ridge thinning

(C) Minutiae detection
(D) Post-proceszing

(E) Minutiae points

Choose the correct answer from the options given below :
v Tz JrE=gd) veee e e e o e ) w9 T
(A) TraEEEA
(B) =t fafm
(€)  HEA e
(D) HE g
(E) 952 dised
A Too e fagedi | 4 @& 3m %1 =9 i

[Question ID = 10884][Question Description = 184_82_Forensic_Science_0CT22_Q84]
T (A (B). (C). (D) and (E) only

#4¢ (A), (B). (C), (D) 3 (E)

[Option ID = 13533]
2. (4). (B}, (D). (C) and (E) only

FA (A), (B). (D). (C) W (E)

[Option ID = 13534]
3. (C), (A), (B). (D) and (E) only

Fad (C). (A). (B). (D) 1 (E)

[Option ID = 13535]
4. (C). (B). {A), (D) and (E) only

F4 (C), (B). (A). (D) 3T (E)

[Option ID = 13536]

85) Sequence of detection and decipherment of alteration in a document should be carried out in
the following sequence

(A) Preliminary visual examination

(B) Examination under UV light and Infrared light
(C) Optical (microscopic) examination

(D) Chemical examination

Choose the correct answer from the options given below !



Fervefl werel =l | U —araet fopn ST o o 1TH 37 T o o Fraferfim =61 9@ s | o

(A  wiafE gva afam

(B) W ST 3 AR SRS S
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(D)  TFTERE

H1 fau 0 faeedi 8 6 w8 3@ %1 =9 Fifau
[Question ID = 10885][Question Description = 185_82_Forensic_Science_0CT22_Q85]
- (A), (B). (C) and (D) only

F47 (A). (B). (C) 31 (D)

[Option ID = 13537]
2. (A). (C). (B) and (D) only

Fa (A), (C), (B) 311 (D)

[Option ID = 13538]
3. (C). (A). (B) and (D) only

A (C). (A). (B) 31 (D)

[Option ID = 13539]
4. (C). (A, (D) and (B) only

#ad (C). (A). (D) #F (B)

[Option ID = 13540]

86)  Given below are two statements: one is labeled ‘as Assertion A and the other 12 labeled as
Reason R
Assertion (A):  After several usage, "bleeding” may be obzerved in untreated columns of
Gas Chromatography.
Reasons (R) : Chemical bonding and cross-linking enhances “hleeding”

In the light of the above statements. choose the most appropriate answer from the options

A4 @ Fe fav e 2 us siiaeE (Assertion A) % #9 U feffid 2 @ @40 369% #00 (Reason R) & &Y
g;

i (A) &3 AR TEAF R AH o A, 1 ST o ST e § rRaE S S HE
21
F (R) : Figae] w12 37 FH =Tl THREaT F qardl 2 |

TR o o AT 1, {74 au o fammadl § 9 wem 3vges 39 & =2 i

[Question ID = 10886][Question Description = 186_82_Forensic_Science_0CT22_Q86]
1. Both (A) and (R} are correct and R is the correct explanation of A

(A) 30 (R) ZH1 @71 7 3R (R). (A) 1 ¥l == 2

[Option ID = 13541]



2. Both (A) and (R) are correct but R 1z NOT the correct explanation of A

(A) 3R (R) 991 B¢ 2, @fa R), (A) 1 981 =men 3¢ 2
[Option ID = 13542]
3. (A) i2 correct but (R) is not correct

(A) 3 2w (R) w4 47 2

[Option ID = 13543]

4. (A) iz not correct but (R) is correct

(A) H#E 98 2 oAl ®) 581 2

[Option ID = 13544]

87) Given below are two statements: one 1s labeled as Assertion A and the other is labeled as
Reason B

Asgertion (A) :  Siblings and mateinally related cannot be distinguished based on mtDNA
typing

Reasons (R) : The inheritance of mtDNA is non-Mendelian and uniparental in nature.
In the light of the above statements, choose the most appropriate answer from the options

41 1 #eA fau o 8 v wiyEee (Assertion A) # 1 1 fafiad 2 d1 $01 #9% #19 (Reason R) &1
X,

AMFIF(A):  WIEIFITE € U U F AR W A E-afel ow w3 SE et £ 1wEE
weprie = il EEEl E |

F] (R) : IR W e €1 A U A~ Heferam S0t HiieE s e |
I FYA F AT 4, 914 fov o fagea 8§ 9a8 37gw 39 0 929 Fif

[Question ID = 10887][Question Description = 187_82_Forensic_Science_0CT22_Q87]
. Both (A) and (R) are correct and R is the correct explanation of A

(A) ¥ (R) 2H1 &8 & 3R (R), (A) F &5l sav=n 2

[Option ID = 13545]
2.  Both (A) and (R) are correct but R is NOT the correct explanation of A

(A) 1 (R) =1 @8 &, =i (R). Q) F o smEn a4 2

[Option ID = 13546]
3. (A) 1z correct but (R) 1s not correct

(A) 7 2 aif (R) 58 76 &

[Option ID = 13547]
4. (A) 1s not correct but (R) 1s correct

(A) @& 37 2 |l (R) 98 &

[Option ID = 13548]



88)  Given below are two statements: one is labeled as Assertion A and the other is labeled as
Reason R

Assertion (4):  EKertain. a chemically inert protein is present in the rhinoceros horn and
velvet of antlers.

Reasons (R) Keratin is composzed of chains of amino acids particularly rich in cysteine.

In the ight of the above statements, choose the most appropriate answer from the options

4 &l Fuq fan o A v sifuees (Assertion A) % ¥ 1 ffiad ® o #F #9% #70 (Reason R) & =
i

Afimad (A) : Tl #in 3 Tarm o = o et 59 8 sl 98 e T e e
101 (R) : AT 3 ST ] 1 el | J4 2 Foe Fdm o e w2 )

Il A o st 4, = e e faed] 4 & aam g 2 e e i

[Question ID = 10888][Question Description = 188_82_Forensic_Science_0CT22_Q88]
1. Both (A) and (R) are correct and R is the correct explanation of A

(A) 3T (R) 2r1 6l 2 3 (R). (A) 1 w&l =z 8
[Option ID = 13549]
2. Both (A) and (R) are correct but R is NOT the correct explanation of A

(A) 31 (R) 1 |, dfs R), (A) 1 & smen 48 @

[Option ID = 13550]
3. {A) 1s correct but (R) 1s not correct

(A) 37 2 difFA (R) 7e1 76 7

[Option ID = 13551]
4. (A) 1s not correct but (R) 1s correct

(A) HEl 981 & el (R) 981 8

[Option ID = 13552]

89)  Given below are two statements: one is labeled as Assertion A and the other is labeled as
Reason R

Assertion (A):  In 1970s the most popular depressants were the barbiturates.

Reasons (R) : They are the family of drugs that have been prescribed to relieve anxiety,
nervousness and restlessness.

In the light of the above statements, choose the most appropriate answer from the options

{1 21 %A fam o v Aiveea (Assertion A) % ¥ A fafiEm ® 7 250 39 F1 (Reason R) & *9
o,

sifiea (A) - 1970 297 H Haiiver dri s anfa=re o |
F (R) : 2 ST = 38 ggea 41 2, T 3ugm ) ware afvams, adie s == 0 9w
2l

9T A % AR 4, i Frvom fased O 3 aa 30ge o9 =94 e



[Question ID = 10889][Question Description = 189_82_Forensic_Science_0CT22_Q89]
1. Both (A) and (R) ave correct and R is the correct explanation of A

(A) 3 (R) 261 18 § 3 (R), (A) F1 wdf =nem 2

[Option ID = 13553]
2. Both (A) and (R) are correct but R is NOT the corvect explanation of A

(A) 3 (R) 7H1 6171 &, &% (R), (A) F) #e) =z 47 2

[Option ID = 13554]
(A) 1= correct but (R) is not correct

(A) wdl 2 #fs (R) 9 6 2

[Option ID = 13555]

(A) 1= not correct but (R) is correct

(A) 57 44 2 &l (R) w6 2

[Option ID = 13556]

90)  @iven below are two statements: one is labeled as Assertion A and the other is labeled as

Reason R

Asszertion (A):  Clove oil was widely uzed in mid of 1960 as immersion liquid to measure
refractive index of glass fragments by immersion method.

Reasons (R) : Clove o1l was replaced with silicon o1l later on, which has disadvantage of

calibration shift with time durng refractive index measurement of glass
fragments by immersion method.

In the light of the ahove statements, choose the most appropriate ansiwer from the options

[0

1 71w fan w2 v ATEIR (Assertion A) % 1 # fafia # dl 290 39F FWV (Reason R) F &1
q;

FifiyFaT (A) 1960 F =9 & ued H e fafa gm wm Brds # srqadd e F e &
fem fdvers aeet (2uia fafire ) % =9 0 &0 % a1 = saraes 39 ferm e o |
#F (R) : v & e = frfersia den | wiaenfoa e e o, Feerd Ftem ffa zm e i

o ST HAHF o U 5 <97 HHA F g Fefrerra forge i spgfrarEnd 2 )
I FA o AT A, A fqu e fased 4 3 |58 3R g9 i

[Question ID = 10890][Question Description = 190_82_Forensic_Science_0CT22_Q90]

- Both (A) and (R) are correct and R is the correct explanation of A

(A) 37 (R =H1 ®ea £ 37 (R). (A) ) 52 =qr=m 2

[Option ID = 13557]
2. Both (A) and (R) are correct but R iz NOT the correct explanation of A

(A) 3 (R) 21 57 &, difdA (R). (A) F weff =y 46 2
[Option ID = 13558]
3. (A) is correct but (R) 1z not correct
(A) #7492 el (R) woe 1 2

[Option ID = 13559]



4. (A} iz not eorrect but (R) 1= correct

(A) 377 97 2 @i (R) @9 2

[Option ID = 13560]
Topic:- 82_PARTB_S1

1) Read the passage carefully and answer the questions that follow.

Two sisters who were living 1n a village visited their apple orchard one day. One of the
sisters was married and another was unmarried. The village was on the bank of a river.
They did not reach home well in time. Brother got worried and went out to look for them.
Meantime the neighbours also went out to look for them but could not find them. People kept
on looking for them till midmight using torch and kerosene lamps, but in vain. Though, few
villagers had seen them drinking water near a spring. This spring was located few yards
away from their apple orchard. Next day, early morning the two bodies were recovered on
the bank of the river. The two bodies were lying around 3 ft away from each other. People
gathered and informed the family members and police. The bodies were taken to the nearby
hospital. The villagers shouted anti government slogans and suspected four police officers
have raped and killed them.

The doctor who examined the bodies and conducted post-mortem declared to media that they
have been raped. The doctor preserved some viscera also. Some insects were found in the
lungs. Agitation against government triggered as the brother and neighbours assumed that
they have been raped by police officers on duty. But meantime the hodies were handed over
to the family who buried them performing all rituals. The case was handed over to other
investigating agency as the report by the first one had lot of controversies.

fperferfia mrnsn 1 wreraeiyEs v i go® e fzu m gedi & 3 4

o A H TR T E deH v oA s i E werenE s of | 398 | v e et ofn gah ae afaatee
off | SR Ta v A fom o feda o | 2 " ST R meE w =E S | 3h fau ard e w e sin
3% G = o Fret a1 | 24 sl e o) 3 ded & for faeet, ol g o8 o am | S A e s
HAEA wv ] FRTEd § QA % 3 dedl STl T, dfw e w2 | @i e a4 1w #
w31 fske T i 70 S A | AR 2 3 dA S et A Fe A e gl w oA | 3 e ad
faras w21 w1 v 6w o | 3 ST v vh-gE @ o Fe w02 we A | e ae veEhm o s
A i UE s R 91 | S1H1 9T ) U e SEeel § o SR T | QT A HEE e an
SN S HeE wehe Tk Fok e qfers sifisrieal 4 g4 wea 3 aeren e 8 s gm s 2 )

54 9191 =) A= 30 9EE 9T F T = difen & aann f s T seTeEn B T 2 ) g8 ShE A
ey famnn 1 of wrfira = fe | 99 9@ & Uekgl | g e ot v e | rEn % fEg stide ds 8
F4iie &9 wpedl & wrd sl ugifE @ maE o T s w e afem s 3 s aeren fEm e
ifer, 23 i 1 v wivaw = 4 e, fome wn s # 3e 2T s e | 9w g 5= S e
il AT T i R g faid ) S s e ad 4

The ante-mortem or post-mortem death in the case of drowning can be ascertained by which
of the following test :

A o e 4 U2-HIEH A1 992 JiEH (i wian) dad) 9o #1 Fefefea 4 8 B s g e am
o HEAT 7

[Question ID = 10891][Question Description = 191_82_Forensic_Science_0CT22_Q91]
1. Emulsion
FHeEH

[Option ID = 13561]
2. Biuret



3.

4.

i

[Option ID = 13562]

Diatoms

ZEEny

[Option ID = 13563]

Starch

=T

[Option ID = 13564]

2) Read the passage carefully and answer the questions that follow.

Two sisters who were living in a village visited their apple orchard one day. One of the
sisters was married and another was unmarried. The village was on the bank of a river,
They did not reach home well in time. Brother got worried and went out to look for them.
Meantime the neighbours also went out to look for them but could not find them. People kept
on looking for them till midnight using torch and kerosene lamps, but in vain. Though, few
villagers had seen them drinking water near a spring. This spring was located few yards
away from their apple orchard. Next day. early morning the two bodies were recovered on
the bank of the river. The two bodies were lving around 3 ft away from each other. People
gathered and informed the family members and police. The bodies were taken to the nearby
hospital. The villagers shouted anti government slogans and suspected four police officers
have raped and killed them.

The doctor who examined the bodies and conducted post-mortem declared to media that they
have been raped. The doctor preserved some viscera also. Some insects were found in the
lungs. Agitation against government triggered as the brother and neighbours assumed that
they have been raped by police officers on duty. But meantime the hodies were handed over
to the family who buried them performing all rituals. The case was handed over to other

investigating agency as the report by the first one had lot of controversies.

fo=rfefam e 1 wEarEEE 1 SR gae A f7o 9w F 3w afan |

e A H 7 T & AeH v fed s S werenE s of | 398 | v e fanfea o gah ae sl
off | S A UF A9] o fAR e o | A S R R A AE w39 e arE A w1 e s
3% G % o Fet w2l | 26 sl e o) 3 ded & Tor faset, ol g 98 e am | S A 2 s
416 wied o6 wErE § aea-nf % I de S wa, ol feea | gef e andon A @ sl &
weh 3 % Fz el o g FmEn o | R e 39 A9 weEE A e A e gl w oA | s e adi
fet w &) wra avreg o oo | 4 ST 9 vek-gE 3 o g i # w2 'e A ) e gl vela o s
3k WIS T qier o HEAT 91 | 141 9T ) O e SeTTel 5 e SR T | Qv A dee faned an
ST 371 Hir wee fren R = gfers st 3 o e A e B s gen 2 )

g I1d1 31 M 30 W2 9i8 F A 2 difea ) aamn oA Ay S WA O 2 | 38 S
Fp TETl #1 of Al # femn | A wE & el § Fe e ol v e | w6 g sTiele de 8 T
Fiie & Al & urd {7 wSifEEl # w S w e e s S s e e |
i, 8 ol o v iEr 1 @i e, Fom J0 = F1 9 S @ B ) @8 gmen 39 S vsH
ol &7 4 i geel foad ) See s g 23 |

Which of these will help to determine the rape on the victims?

(A) Presence of semen in vaginal swab (B) Medico-legal examination of the victim
(C) Presence of insects in the viscera (D) Presence of mud in fingernails

Choose the correct answer from the options given below :



Frferfiam 4 @ frad 22 difed & e aerern & i om0 geemm e

(1) =3 = 8 4 fi ufarfa (2) ifea & tfzgn-weA o=
(3)  Tammd el i mafeufa (@) w1 o fer % A d o (9s)

et o o fasred) 9 @ |l 3w o

[Question ID = 10892][Question Description = 192_82_Forensic_Science_0CT22_Q92]

1.

2.

3.

4.

(A), (B) and (D) only

FF (A), (B) 3T (D)

[Option ID = 13565]

(A) and (D) only

FA (A) A1 (D)

[Option ID = 13566]

(A) and (B) only

F9 (A) 31 (B)

[Option ID = 13567]

(B) and (D) only

Fae (B) 3 (D)

[Option ID = 13568]

3) Read the passage carefully and answer the questions that follow.

Two sisters who were living in a village visited their apple orchard one day. One of the
sisters was married and another was unmarried. The village was on the bank of a river,
They did not reach home well in time. Brother got worried and went out to look for them.
Meantime the neighbours also went out to look for them but could not find them. People kept
on looking for them till midnight using torch and kerosene lamps, but in vain. Though, few
villagers had seen them drinking water near a spring. This spring was located few yards
away from their apple orchard. Next day. early morning the two bodies were recovered on
the bank of the river. The two bodies were lving around 3 ft away from each other. People
gathered and informed the family members and police. The bodies were taken to the nearby
hospital. The villagers chouted anti government slogans and suspected four police officers
have raped and killed them.

The doctor who examined the bodies and conducted post-mortem declared to media that they
have been raped. The doctor preserved some viscera also. Some insects were found in the
lungs. Agitation against government triggered as the brother and neighbours assumed that
they have been raped by police officers on duty. But meantime the hodies were handed over
to the family who buried them performing all rituals. The case was handed over to other
investigating agency as the report by the first one had lot of controversies.



Tyferfiaa ey i wraarigEs ue i ame foam gedi 2w 4o

e 717 1 T T 2 e v i H o et o off | g B v e faenfea o guh we st
off | SR Ta U A9 o foRs o fosrd o | @ g8 o0 R m weE s =E S | 3h fau urg e w e eie
I e o o Frepe wen | a o/ w2 ) 35 den % fom e, @ e o3 won g | S 3 o iR
FATA v ) T 8w -0 T I de A wn, e Fera | gafi Fae adon 3 e e #
weh 31 % fske el i g dEn | A e 3 d9 & et A g & e gl woan | Wi e ad #
it w21 v e forn o | 3 2T vrE v g 8 oA e R W wE e A ) wm AR e # s
39k il wd qiert 1 HEE 4 | 01 9T ) U e seere 3 o e o) | a3 s faed
0, W HeE wee Fern T wm gfera sifusivl 3 24 wea 3 aeien B e s o e 2

29 9191 = A 3 R uiig F 9 2R dife F g e me a2 ) 2 g
F famn &1 of wfqa # fem | 3 vEl & B e e ol o | e fass sEe ds d@
il g3 wwdl & g s wEifeE o e o e e w e wfew il 3 5 aenen fan @
eifer, g afre 3 v efvam 0 df me, Faes ait swpse 9 se sif s fen | gr amen s s oad
o1 HT T i e foaid = S s ad g

‘Who among these is authorized to oder for exhumation of dead bodies:

F=ferfaa 43 FF wa) 1 42 @ 5= 5R T 3eEET 9 e (e # e ad o o i 27
[Question ID = 10893][Question Description = 193_82_Forensic_Science_0CT22_Q93]
. 8ub Divisional Magistrate
g -fzfasem uisnse
[Option ID = 13569]
2. Medico legal expert

uf ]~ s

[Option ID = 13570]
3. Police Commissioner

qferH ST
[Option ID = 13571]
4. Tahsildar

[Option ID = 13572]



4) Read the passage carefully and answer the questions that follow.

Two sisters who were living in a village visited their apple orchard one day. One of the
sisters was married and another was unmarried. The village was on the bank of a river,
They did not reach home well in time. Brother got worried and went out to look for them.
Meantime the neighbours also went out to look for them but could not find them. People kept
on looking for them till midnight using torch and kerosene lamps, but in vain. Though, few
villagers had seen them drinking water near a spring. This spring was located few yards
away from their apple orchard. Next day. early morning the two bodies were recovered on
the bank of the river. The two bodies were lving around 3 ft away from each other. People
gathered and informed the family members and police. The bodies were taken to the nearby
hospital. The villagers shouted anti government slogans and suspected four police officers
have raped and killed them.

The doctor who examined the bodies and conducted post-mortem declared to media that they
have been raped. The doctor preserved some viscera also. Some insects were found in the
lungs. Agitation against government triggered as the brother and neighbours assumed that
they have been raped by police officers on duty. But mmeantime the bodies were handed over
to the family who buried them performing all rituals. The case was handed over to other

investigating agency as the report by the first one had lot of controversies.

Tt e 1 wEarEEE 16 SR gae A f7o 9w F 3w dta |

e A H TR T &) deH v fed s #E S werenE s of | 398 | v e e o gl ae aiaate
off | SR Ta U A9 o foRs o fosrd o | @ g8 o0 R m weE s =E S | 3h fau urg e w e eie
T g o foru Frepet v | 2@ sl weiE o) 3 de o fer ferm, ofem aen =3 som | &nn 3 2 sin
#4118 wied o6 HerE § aea-n % I de S w, ol Feea | gl e andon 3 @ s #
e 21 3 Pz ol i ge 2 o | A2 e 39 89 S el A e A i gl wmoa | s fe ad
fere w &) vra avmee b oo | 3 ST 9/ veh-gE A o g w2 ge A ) e g vefa g om s
3k WIS T qier o gEAT 41 | 141 9T ) O e SereTel 5o S T | arEen A dee faned an
wTe Si Hee v fr f = gfern st 3 o e f e B s an g 2 )

g4 91l 1 A 39 9R2 9i0q F4 J1 2T difed F A 6 e Wy e B 2 ) 38 S
Fep TETl F1 o Al # femn | A wE & el § Fe e ol W e | w6 FEg sTiele de 8
Fiie 5 Ael & Wi {7 wSifEEl # w S w e Yo s 3 s e e |
e, 8 o= 1 31 iEr 1 =i e, Foa J0 S F1 9 S e B | @8 gmen S4 SE vsH
il AT T R e i s e s faae ad 4

vifer AT ATel § wiEe st & e g q . A e am E s men 76 i

R GiE B e U e e e et e e s e e e o e e e el ) e G e

[Question ID = 10894][Question Description = 194_82_Forensic_Science_0CT22_Q94]

1.

2.

3.

4.

376

[Option ID = 13573]
302

[Option ID = 13574]
304

[Option ID = 13575]
367

[Option ID = 13576]



5) Read the passage carefully and answer the questions that follow.

Two sisters who were living in a village visited their apple orchard one day. One of the
sisters was married and another was unmarried. The village was on the bank of a river,
They did not reach home well in time. Brother got worried and went out to look for them.
Meantime the neighbours also went out to look for them but could not find them. People kept
on looking for them till midnight using torch and kerosene lamps, but in vain. Though, few
villagers had seen them drinking water near a spring. This spring was located few yards
away from their apple orchard. Next day. early morning the two bodies were recovered on
the bank of the river. The two bodies were lving around 3 ft away from each other. People
gathered and informed the family members and police. The bodies were taken to the nearby
hospital. The villagers shouted anti government slogans and suspected four police officers
have raped and killed them.

The doctor who examined the bodies and conducted post-mortem declared to media that they
have been raped. The doctor preserved some viscera also. Some insects were found in the
lungs. Agitation against government triggered as the brother and neighbours assumed that
they have been raped by police officers on duty. But mmeantime the bodies were handed over
to the family who buried them performing all rituals. The case was handed over to other

investigating agency as the report by the first one had lot of controversies.

Tt e 1 wEarEEE 16 SR gae A f7o 9w F 3w dta |

e A H TR T &) deH v fed s #E S werenE s of | 398 | v e e o gl ae aiaate
off | g4 Mg U 391 % (oA o e ) | 4 aeE s w w1 | 38 e urd fiaa @ e
T g o foru Frepet w1 | 2@ sl weiE o) 3 de o e ferm, o1fem aen =3 som um | & 3 2 sin
#4118 wied o6 HerE § aea-n % I de S w, ol Feea | gl e andon 3 @ s #
e 21 3 Pz ol i ge 2 o | A2 e 39 89 S el A e A i gl wmoa | s fe ad
fere w &) vra avmee b oo | 3 ST 9/ veh-gE A o g w2 ge A ) e g vefa g om s
3k WIS T qier o gEAT 41 | 141 9T ) O e SereTel 5o S T | arEen A dee faned an
wTe Si Hee v fr f = gfern st 3 o e f e B s an g 2 )

g4 91l 1 A 39 9R2 9i0q F4 J1 2T difed F A 6 e Wy e B 2 ) 38 S
Fep TETl F1 o Al # femn | A wE & el § Fe e ol W e | w6 FEg sTiele de 8
Fiie 5 Ael & Wi {7 wSifEEl # w S w e Yo s 3 s e e |
e, 8 o= 1 31 iEr 1 =i e, Foa J0 S F1 9 S e B | @8 gmen S4 SE vsH
il AT T R e i s e s faae ad 4

Which of the following can help In connecting the culprits with the crime or attempt of Rape
conclusively?

ACATCHT o] AT 4] T FAH FA AT H e # 5 A6 S F oo Feiaten d | B aama e
o HeFA 27

[Question ID = 10895][Question Description = 195_82_Forensic_Science_0CT22_Q95]
1.

DNA analysis/Examination of hard tissues

[Option ID = 13577]
Presence of foot prints on crime scene/Dental exammnation

ST 2w T E TR /AT = S

[Option ID = 13578]
- Examination of the soil/Uterus examination

g1 =i 5114 /raier ) A7

[Option ID = 13579]



4.  X-ray of skull/Hair examination

HTTE = v -1

[Option ID = 13580]

Topic:- 82_PARTC_S1

1)

Read the given passage carefully and answer the questions that follow.

A 25 year old person who was driving a Car (A) met with an accident with another Car (B).
The driver of Car (B) was killed in the aceident. The toxicological examination of blood of the
driver of Car (A) revealed the presence of ethanol (Evidence — I} and tetrahydrocannabincl
(THC) (Evidence — II). To prove the correspondece, transferred paint chipz (Evidence — III)
from both the cards and broken glass pieces (Evidence — IV) were collected and sent to the

1.

Forensic Science Laboratory for the analysis.

Fferfiam mars =1 afen i fou qu w3 & 3 i,

w25 A =i 17y 1 s I (A) Fen @ 9 3 w0 (B) 3 gden &1 0 |38 ge 8 #W (B) F ares
0 F T | F (A) F AT 6 T F TS Wam E um Tel 35 o 0 v (AE-1) $56 2
FESIFATEE (THC) (F15a-11) 4 | gez1 1 5aa e 390 % faw 2151 #/ & s o0 fore/ s
(¥em- III) »i% 22 70 sfil & 2 (- IV) v fo i s 3% fAwe # fon =oafes e
SETIITE H HS T |

Evidence-I can be better analyzed by which of the following instruments?

Taerferfvaa 1 Torm I & Wi -1 &1 w=1 ave 9 fagverm fpn shaaan 2

[Question ID = 10896][Question Description = 196_82_Forensic_Science_0CT22_Q96]
TLC

AR

[Option ID = 13581]

2. GC

IR

[Option ID = 13582]

3. LEe-MS

e i - 1 v
[Option ID = 13583]

4. HPLC

o= i TE

[Option ID = 13584]

2 : p
) Read the given passage carefully and answer the questionz that follow,

A 25 year old person who was driving a Car (A) met with an accident with another Car (B).
The driver of Car (B) was killed in the aceident. The toxicological examination of blood of the
driver of Car (A) revealed the presence of ethanol (Evidence — I} and tetrahydrocannabinol
(THC) (Evidence — II). To prove the correspondece. transferred paint chips (Evidence — III)
from both the cards and broken glass pieces (Evidence — IV) were collected and sent to the
Forensic Science Laboratory for the analysis.



Trferfiar e = afen si fa o i & e it

w25 A =i 377 1 S I (A) Fen @ 91 3 %0 (B) 3 g 71 02 | 36 g9 § # W (B) % Jreh o
e # T | FT (A) F AT T F i wiam @ v wen B 3w o O veEie (Waa-1) s g
FESIFATEE (THC) (#5a-11) 4 | gez1 =1 5o 6@ 393 % fav &5 e & s 70« forg)/ s
(#n&m- II) 3fw 22 7o sfisii & gae (|nea- IV) vand feu oo sie o3 favemm & fou 2gmnfas Fam
RIS H 0 T |

Evidence —II can be better analyzed by which of the following instruments?

frefafaa 1 fa auerm & mes-11 = =8 @z 4 faveibm B s gwa 27

[Question ID = 10897][Question Description = 197_82_Forensic_Science_0CT22_Q97]
1. GC-MS

HHl - g

[Option ID = 13585]
2 XRD

T 3 2]

[Option ID = 13586]
> AAS

LR

[Option ID = 13587]
4. ICP-MS

s wfi i - v oy

[Option ID = 13588]

3) Read the given passage carefully and answer the questions that follow.

A 25 year old person who was driving a Car (A) met with an accident with another Car (B).
The driver of Car (B) was killed in the accident. The toxicological examination of blood of the
driver of Car (A) revealed the presence of ethanol (Evidence — I} and tetrahydrocannabinol
(THC) (Evidence — II). To prove the correspondece. transferred paint chips (Evidence — III)
from both the cards and broken glass pieces (Evidence — IV) were collected and sent to the
Forensic Science Laboratory for the analysis.

Trferfiar e = afen si fa o i & e it

w25 A =i 377 1 S I (A) Fen @ 91 3 %0 (B) 3 g 71 02 | 36 g9 § # W (B) % Jreh o
e # T | FT (A) F AT T F i wiam @ v wen B 3w o O veEie (Waa-1) s g
FESIFATEE (THC) (#5a-11) 4 | gez1 =1 5o 6@ 393 % fav &5 e & s 70« forg)/ s
(¥e- IID) i 22 20 sfill & 2ae (Aea- IV) v o i s 32 g & fon =aafes e
RIS H 0 T |

R: value of Evidence — II separated by TLC is 0.50. Which of the following is correct hR:
value?

#1 e H 1 9uFEd M-I F1 Re 9F 0,50 2 | Feafrfiad 8 hR: 1 971 5= &= 27

[Question ID = 10898][Question Description = 198_82_Forensic_Science_0CT22_Q98]
1. K
0.050



2.

3.

4.

4)

[Option ID = 13589]
0.50

[Option ID = 13590]
&80

[Option ID = 13591]
500

[Option ID = 13592]

Read the given passage carefully and answer the questions that follow.

A 25 year old person who was driving a Car (A) met with an accident with another Car (B).
The driver of Car (B) was killed in the accident. The toxicological examination of blood of the
driver of Car (A) revealed the presence of ethanol (Evidence — I} and tetrahydrocannabinocl
(THC) (Evidence — II). To prove the correspondece. transferred paint chips (Evidence — III)
from both the cards and broken glass pieces (Evidence — IV) were collected and sent to the
Forensic Science Laboratory for the analysis.

Frferfiam mars =1 afen i e mo g3 % 39

U 25 a2l 37 1 S T (A) FEn @ 91 3 F0 (B) 3 g6 719 | 38 g9 § F0 (B) F e
e # T | F0 (A) & A o T A W d ud Fen B oaEa o U e (de-1) S 2
FEEIFANHE (THC) (#1#8-11) 4 | Zez1 = @ @@ #0 = fav 26 &) & sida 0 & o)
(¥em- TIT) 3iw 22 o sfml & gas (Aea- IV) vaa fhu o s 33 fagenm & o 2oafes e
ST 9 |

The resins in Evidence — IT1 1s better analyzed by which of the following techniques?

frafaten o frm a3 3 @e- 10 F TR 31 9=0 2 | Gyaia B e 27

[Question ID = 10899][Question Description = 199_82_Forensic_Science_0CT22_Q99]

1.

2.

3.

4.

FTIR
g, | 5E Ap

[Option ID = 13593]
NAA

T

[Option ID = 13594]
AES

wd oy

[Option ID = 13595]
XRF

UFH U

[Option ID = 13596]



5

)

Read the given passage carefully and answer the questions that follow.

A 25 vear old person who was driving a Car (A) met with an accident with another Car (B).
The driver of Car (B) was killed in the accident. The toxicological examination of blood of the
driver of Car (A) revealed the presence of ethanol (Evidence — I} and tetrahydrocannabinocl
(THC) (Evidenece — II). To prove the correspondece. transferred paint chipg (Evidence — III)
from both the cards and broken glass pieces (Evidence — IV) were collected and sent to the
Forensic Science Laboratory for the analysis.

Freferiaa mems =1 afen =2 o qu gwqi % 3 i

U 25 A il AT ] ST FR (A) T @ 91370 FR (B) H g 71 08 | 9 59 1§ #W (B) F e
0 FTE | FT (A) F A o T F s wiam @ um wen 3w o veie (Wea-1) 2
FEEIFATEE (THC) (#153-11) 4 | gz 1 g oz 0 % faw 265 #r & s o0+ foe/ s
(wnem- III) 3fw 22 w0 sfiil & gae (|- IV) vad feo oo sin o3 favemm & fou ~grnfus fam
SETTIITE § W T

Which of the following techmiques can be used for the elemental analysis of Evidence-IV?

frrferfian o fr et o0 wm @ -1V & anfces Ao 1 G snasm 27

[Question ID = 10900][Question Description = 200_82_Forensic_Science_0CT22_Q100]

1.

SEM-EDX

Uy 30y - 3 2 U

[Option ID = 13597]
FTIR

L i |

[Option ID = 13598]
HPTLC

o oy A A

[Option ID = 13599]
HPLC

s i v Hi

[Option ID = 13600]

Topic:- 11_GP_SH1_S1_A

1)

The following table presents the percentage (%) distribution of production of various models
of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020.
The total number of Laptops produced in 2019 was 35 lakh and in 2020. it was 44 lakhs.
Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A|B|¢c|D| E]|F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%




fpeferfam anfesr =4 2019 7en 2020 ¥ 21 &aw =91 § fdt st g fafifa dvem = fafim wiza
(A-F) & 3eamed & famm &1 ufaem femr mn 21 ad 2019 79 a9 2020 § fafiq s 6 o 9=
FUI: 35 ¢ 99T 44 @ng 2| Gneh § fEu e TSl o YT 9 9 o 39 At

e & 3dTed famm =1 9 gn afdsE

aH 92T Hige (%)

A | B C | D|E F
2019 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

Total number of Laptops of models A, B and E produced in 2019 was :
(1) 24.50 lakh (2) 22.75lakh
(3) 21.00 lakh (4) 19.25lakh

ad 2019 4 f4fda A, B a2 E "igel @ @i #l o J@n 4

(1) 24.50 oI (2) 227561

P

(3) 21.00«mE (4) 19.25«4

[Question ID = 11596][Question Description = 101_00_General_47_0CT22_Q01]
1. 1 [Option ID = 16381]

2. 2 [Option ID = 16382]
3. 3 [Option ID = 16383]
4. 4 [Option ID = 16384]

2) The following table presents the percentage (%) distribution of production of various models
of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020.
The total number of Laptops produced in 2019 was 35 lakh and in 2020, it was 44 lakhs.
Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A|B|lc|D|E|F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

feferfan arfersrr # 99 2019 Fen 2020 ¥ 21 &ER 997 § fet Sl ga Rt wvem % fafim gz
(A-F) % 37Imed & faemm = wiaem fean man 21 ad 2019 72 ad 2020 # Fiig swefd 6 &6 F=n
HUI: 35 ¢ 99T 44 =g 2| Groh § fEu TSl o HIYE 9 9 o 39 Al

92T & 3edTEd faamm =1 99 gn ufqsE

aH 92T Higw (%)

A | B C | D|E F
2019 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%




What is the ratio of number of Model-F Laptops produced in 2019 to the number of Model-C

Laptops praduced in 20207
(1) 33 :5H9 (2) 3b5:66
(3) 37:61 (4) 31:65

ad 2019 4 ffda giga-F dAverdi 1 sen awn ad 2020 4 Sida aiga-C i wen &1 #m 49 27
(1) 33:59 (2) 35:66
(3 37:61 (4) 31:65

[Question ID = 11597][Question Description = 102_00_General_47_0CT22_Q02]
1. 1 [Option ID = 16385]
2. 2 [Option ID = 16386]
3. 3 [Option ID = 16387]
4. 4 [Option ID = 16388]

3) The following table presents the percentage (%) distribution of production of various models
of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020,
The total number of Laptops produced in 2019 was 35 lakh and in 2020, it was 44 lakhs.
Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

e Laptop Model (in %)

A|B|¢c|D|E]|F
2019 | 30% | 15% | 20% | 10% | 16% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

fererferfian arfersrr 5 = 2019 7= 2020 o 21 SOEE =91 ° RET S 2 M dwen % e aiee
(A-F) % 37med & faeo & wiqem fean man 21 ad 2019 #on a9 2020 § Fhq sveid 1 &6 Fe
FUY: 35 @G YT 44 wvg 2| Govi § fEu o STl % YT 9T U9 % 39 e

(:quTq a:‘ 3rdled rqu{lﬂ =h] El'é 1L gﬁﬂ“‘—'[

au 72T Hize (% H)

A | B C | D | E F
2019 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10°% | 10% | 5%

What was the difference in the number of Model-B Laptops produced in 2019 and 20207

@8] 3.651akh (2) 2.70lakh
(3) 2.25 lakh (4) 1.751lakh

ad 2019 9= ad 2020 4 fafda gfem B dgzrd) &1 HE@ &1 @91 3=w 27
(1) 3557 (2) 2.70 ¥
(3 225@m@ 4 L1754

[Question ID = 11598][Question Description = 103_00_General_47_0CT22_Q03]
1. 1 [Option ID = 16389]
2. 2 [Option ID = 16390]
3. 3 [Option ID = 16391]
4. 4 [Option ID = 16392]
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) The following table presents the percentage (%) distribution of production of various models

of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020,
The total number of Laptops produced in 2019 was 35 lakh and in 2020, it was 44 lakhs.
Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A|B|lc|D|E|F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

fpferfige mfers © =4 2019 A2 2020 @ &1 &R @91 ° fet s gr e duem 5 fafim wiea
(A-F) % 3o % famon a1 wfder o 21 2019 war ad 2020 H Fife Sweit 41 %o e
S 35 0 A41 44 emd 2| Jrll § fou e sieEl % 30un w3 A

92T o ITEA TeAT =R CERGIE ‘Iﬁ‘l’gll—'f

aH 9219 Hige (% H)

A | B C | D | E F
2019 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

If the percentage production of Model-A Laptops in 2020 was same as that in 2019, then the
number of Model-A Laptops produced in 2020 would have been :

(1) 14.0 Lakh (2) 13.2 Lakh
(3) 11.7 Lakh (4) 10.5Lakh

a9 2020 | "igei-A w9210 % Io0E %1 gfderd =6 2 S T8 2019 9 91, 91 99 2020 § e gige-

(1) 14.0 =g (Z) 13.2+vm4
(3) 11.7 =rg 4y 10.5=M=F

[Question ID = 11599][Question Description = 104_00_General_47_0CT22_Q04]
1. 1 [Option ID = 16393]
2. 2 [Option ID = 16394]
3. 3 [Option ID = 16395]
4. 4 [Option ID = 16396]

%) The following table presents the percentage (%) distribution of production of various models

of Laptop (A-F) manufactured by a company over two consecutive years in 2019 and 2020,
The total number of Laptops produced in 2019 was 35 lakh and in 2020, it was 44 lakhs.
Based on the data in the table. answer the questions:

Year-wise Percentage Distribution of Production of Laptops

Year Laptop Model (in %)

A|B|lec|D|E|F
2019 | 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%




Fpeferfiaa wferse # 99 2019 71 2020 @ &1 SR @91 8 fEl A grr Fie deem & fafim wiee
(A-F) & 391 & o &1 gfasm fea man 81 99 2019 797 99 2020 # ffdq smera &1 % gen
FUY: 35 ¢ 997 44 oird 2| gnll § f5u me 3RS % 3T 99 % 3 affe)

e & 3dTed famm =1 9 gn afdsE

Eil 92T Higel (% H)

A | B C | D|E F
2019 30% | 15% | 20% | 10% | 15% | 10%
2020 | 40% | 20% | 15% | 10% | 10% | 5%

If 90% of the Model-D Laptops produced in each year were sold by the company. then how
many Model-D Laptops remained unsold?

(1) 76500 (2) 93500
(3 79000 (4) 87000

Afe S A wfd &Y HiEE 90%, iee-D |92l =9 g g, @1 e gige-D #a a9 6 40
(1) 16500 (2) 93500
(3) 79000 (4) 87000

[Question ID = 11600][Question Description = 105_00_General_47_0CT22_Q05]

1. 1 [Option ID = 16397]

2. 2 [Option ID = 16398]

3. 3 [Option ID = 16399]
4. 4 [Option ID = 16400]

Topic:- 11_GP_SH1_S1_B

1) A drawing that charts the relationships among 1deas 1s known as

(1) Divergent thinking (2) Concept map
(3 Episodic memory (4) Embodied cognition
A8 WHE ] UeTA] & A HEY] dh wYeg 440 Al B FEATAT 7 |
(1) gt e (zrgs= ) (2) HUEE gETEE (FAEE 7))
(3)  wwETersh Wi (wfrEites i) (4) afwfem s (gaifes wiem)

[Question ID = 11601][Question Description = 106_00_General_47_0CT22_Q06]
1. 1 [Option ID = 16401]
2. 2 [Option ID = 16402]
3. 3 [Option ID = 16403]
4. 4 [Option ID = 16404]



2 . . . .
) Cyclical phaszes/subprocesaes of self regulated learning model by Zimmerman operate as

(A) Task Analysis

(B) Self-motivation beliefs
() Self-control

(D) Self-observation

(E)  Self- Judgement

(F) Self Reaction

Choose the correct answer from the options given below :

(1) (A (B). (C). (D), (E). (F)
2 A (©C), (E) (B). (D). (F)
(3) (B (E) (F). A). (C). (D)
) (B, (C). (D). (A). (E). (F)

o g wienfza s fafafm afem & 6 am/ufean # w9 4w Fd/
Ecild

(A FeFs favemm
B) @|-wfar fHEm
(Cy ey Fem

(D) HATHE

(E) 3¥rew favia

(Fy  smen ufefan

g feu o fasedi 4 4 6981 3 %1 E il

(1) (A (B). (C). (D), (E). (F)
(2) (A (). (E), (B). (D). (F)
(3)  (B). (E). (F). (A). (C). D)
(4 (B). (C). D), (A), (E). (F)

[Question ID = 11602][Question Description = 107_00_General_47_0CT22_Q07]
1 [Option ID = 16405]
2 [Option ID = 16406]
3 [Option ID = 16407]
4 [Option ID = 16408]

A W N -



3)  Given below are two statements :

Statement (I) :  Extrinsically motivated students are driven by rewards and praize.

Statement (II) : Intrinsically motivated students engage with a subject for the personal

satisfaction it brings.

In the light of the above statements, choose the correet answer from the options given

below :

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I} 1= true but Statement (II) 1= false

(4) Statement (I) 1s falze but Statement (II) 1s true

dr1 21 e fen e 2

e (D) afafifem srfaifea foremeli grepm den yoimn & gafem &R )
%o (10 : e wifirafea faareff 08 e fava F dom w8 & o 52 Jufes oafe
e w2

IUF w494 & Heien 4, i1 oo m faeedi 0 8 gd a3 1 =9 ifsu .

(1) &= @) 3l (1) aH #7 3

(2) & ([) AR (1) Hl 39 2

(3) U (DEA 2, A w0 (1) 397 2
@ (D) ¥ 2, Al $eE 1D 59 7

[Question ID = 11603][Question Description = 108_00_General_47_0CT22_Q08]
1. 1 [Option ID = 16409]
2. 2 [Option ID = 16410]
3. 3 [Option ID = 16411]
4. 4 [Option ID = 16412]



4) Identify the tools for shared viewing of vizual and other interactive content within real-time

environments.

(A) Virtual whiteboard
(B) Slide showing

(C)  Polling

(D)  Quizzing

(E) Avatars

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C). (D) only
(2) (A), (B}, (D), (E) only
(3) (A, (C), (D). (E) only
(4 (B).(C). D). (E) only

areeifves Tiem 4 998 ae1 39 H2A (SR R WEgElEd oq Jedl ) 9eEE fifae
(A)  FE TEA 922 (A HA wATge 4iE)

B) T e

(C) wegH (vifer)

(D) ST

(E) 3HEdr
44 fgu o famwen 0 H HaH I9gE I 1 999 ifau

(1) %@ (A), (B), (C). (D)
(2)  a (A). (B). (D), (B)
(3)  *a (A). (C), (D). (E)

(4) == (B). (€), (D). (E)

[Question ID = 11604][Question Description = 109_00_General_47_0CT22_Q09]
1. 1 [Option ID = 16413]
2. 2 [Option ID = 16414]
3. 3 [Option ID = 16415]
4. 4 [Option ID = 16416]



A w N =

5) Match List T with List IT

(&)
(B)
(C)
(D)

ListI

Bigz's Presage-Process-Performance
model of learning

Learning Outcome

Learning Focused Activities
Student Characteristics

Teaching Context

List I

Factors

(I} Prior Enowledge
(II) Satisfaction, Affective involvement

(III) Ongoing approach to learning
(IV) Assessment

Choose the correct answer from the options given below:

1) (A)-(IV). (B)-(ID). (C)-(III). (D)D)
(2) (A)-(D), (B)-(IV), (C)-(I1}, (D)-(ILI)
(3) (AID, (B)-(ILD), (C)-(D). (D)-(IV)
(4) (A)-(III), (B)-(I), (C)-(IV), (D)-(II)
-1 % w2 H=A1-11 @ faerm i
I
a1 il s whean & qETaE - -
Foare Hige
(A) ey Fed
B) s Fza e
(C) fernedi fawromn
(D) e e

= feu mu faaedi O & |58 I &1 =551 Fifau .

(0
(2)
(3)
4)

(A)-(IV), (B)-(II), (C)-(1II), (D)-(I)
(A)-(D). (B)-(IV), (C)-(ID). (D)-(III)
(A)-(IT). (B)-(IID). (C)-(D). (D)-AV)
(A)-(IID). (B)-(D). (C)AIV). (D)-(ID)
[Question ID = 11605][Question Description = 110_00_General_47_0CT22_Q10]

1 [Option ID = 16417]
2 [Option ID = 16418]
3 [Option ID = 16419]
4 [Option ID = 16420]

-1

il

M
(IT) Hdfe, Sy sadgifadd
(IIT) wAfepmy o1 arfaed S9mmy

(IV) =T34



6)  Match List I with List IT

ListI ListII
(Research Methodology) (Approaches/Beliefs)

(A) Source criticism (I) The observer i1s the part of what is
being ohserved

(B) Positivism (IT) Reality cannot hbhe known with
certainty

(C) Interpretivism (ITI) The process of evaluating the gualities
of origin of information

(D) Post- Positiviem (IV) Human interests are irrelevant

‘Choose the correct answer from the options given below :

1) (A:@, (B)-D), (C)-(I1T), (D)-(IV)
(2)  (A)-AD. (B)-(D. (C)-IV). (D)-(IID)
(3) (A)-(IID). (B)-(IV), (C)-(D). (D)-(IL)
(4) (A)-(IV), (B)-(III). (C)-(ID. (D)-(D

HAl-I & 912 HF1-I1 &1 fgem i

11 qe1-1T
(et = faf) (3T / SR
(A) HE A (@  uHF fEY 31 73 Dam & U uE R 2
(B) gra&Em (D) ardfaes w1 RvggamEs T8 T @
Hekdl 7|
(C) = dID) Y= % e &l e 6 geisa gfEn
(D) v¥HE-TraEETRE (IV) " fea s 2

41 feu au faehedl 4 8 | I F1 994 Fifau ;
(1) (A)-D. (B)-(D), (C)-(III). (D)-IV)
(2) (A)-(ID. (B)-(I). (C)-(IV). (D)-1IT)
(E)) (A)-(III). (B)-(IV}. (C)-(D. (D)-(IT)
(4) (A)-(IV). (B)-(IIT}. (C)-(II). (D)-(I)

[Question ID = 11606][Question Description = 111_00_General_47_0CT22_Q11]
1. 1 [Option ID = 16421]
2. 2 [Option ID = 16422]
3. 3 [Option ID = 16423]
4. 4 [Option ID = 16424]



7)
Which of the following represent the Quantitative Research methodology?

(A) One to One Interview
(B) Survey research

(C)  Focus groups

(D) Correlation research
(E) Descriptive research

Choose the correct answer from the options given helow :

(1) (A). (D). (E) Only
{2)  (B), (D), (E) Only
(3  (B).(C). (D) Only
(4)  (C). (D). (E) Only

Tferfiga O & @i e siv fafeEi =) gefiia e 8
(A) YrRIE AR

(B) Ha=W Sy

(€C) H3-HYE

(D) W7 Ha4 9y

(B) =T 91H

41 fav 1 fasred | | gl 3@ &1 239 Hifau

(1) = (A), D), (E)

(2) %A= (B), D), (E)

(3) a4 (B). (C). (D)

(4)  @Ed (C). (D). (E)
[Question ID = 11607][Question Description = 112_00_General_47_0CT22_Q12]
1. 1 [Option ID = 16425]
2. 2 [Option ID = 16426]

3. 3 [Option ID = 16427]
4. 4 [Option ID = 16428]

8) Relics such as fingerprints are considered credible by which of the following Research
methodology?
(1) Experimental (2) Quantitative
(3) Historieal (4) Descriptive
Frefafaa 4 4 T my Eearfaly 4 Sifam % fomm S8 sl i favesd am 3 27
(1)  wanme® (2) urEEE
3) Uil (4) =TS

[Question ID = 11608][Question Description = 113_00_General_47_0CT22_Q13]
1. 1 [Option ID = 16429]



2. 2 [Option ID = 16430]
3. 3 [Option ID = 16431]
4. 4 [Option ID = 16432]

9)  Which of the following referencing style is used for research in the field of Business. History
and Artz?
(1) APA style (2) MILA stvle
(3) Chicago style (4) 1EEE =tyle

faferfaa § @ #m = 9ey 9eh (TRm) =, gfaems i Fen & & ° g & ol age A R v

(1)  APA dieft (2) MLA i
(3)  ferewrm oSl (4) IEEE 3=

[Question ID = 11609][Question Description = 114_00_General_47_0CT22_Q14]
1. 1 [Option ID = 16433]
2. 2 [Option ID = 16434]
3. 3 [Option ID = 16435]
4. 4 [Option ID = 16436]

10) Given below are two statements :
Statement (I) : While developing a ‘consent form’ an explanation of the purpose of the
study, the reason for the selection of the participants should be explicit.

Statement (II) : However. there is no need to give a description of any potential risks to the
participants.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement (I) and Statement (II) are true

(B2) Both Statement (I) and Statement (II) are false

(3 Statement (I) 1s true but Statement (II) is false

(4) Statement (I) 1= falze but Statement (II) is true

e @) s feu e 2

& (D) weald w % fum & gym serm & 3w & e odw fe e en
afedrfirdi &1 =g fo o 2, Hewen @R e
&aH (I : i wiaariE o fael Afaa e % auia @ sravaddal T8 2

I HYA & ATer® 4, 449 fev m fawean 4 3 58 a3 &1 999 il

(1) =94 (1) 3 (D) 41 7 2

(2)  wEE @ 30 AD T AH E

(3)  ®UA (D a2, A wed (D) 519 2

(4)  FYE (D 39 2, Afbd 94 (1) 94 2
[Question ID = 11610][Question Description = 115_00_General_47_0CT22_Q15]
1. 1 [Option ID = 16437]
2. 2 [Option ID = 16438]

3. 3 [Option ID = 16439]
4. 4 [Option ID = 16440]

11)  Exeeptional classroom communication will result in

(1) Institutionalisation of teaching {(2) Noticeable student achievement
(3) Change 1n focus areas of students (4) Manufacturing of consent



(L ST T HEATRTT (2) g Tardl suesy
(3)  TaEnidE = %z &9 5 giE (4) EEATE =

[Question ID = 11611][Question Description = 116_00_General_47_0CT22_Q16]
1. 1 [Option ID = 16441]
2. 2 [Option ID = 16442]
3. 3 [Option ID = 16443]
4. 4 [Option ID = 16444]

12) The Internet-based communication for learning 1s

(A) Izclated
(B) Inter-dependent
(C) Interactive
(D)  Automatic
(E)y Wide-ranging
Choose the correct answer from the options given below :
(L) (A, ®B), (C)Only
(2) (B). (C). (D) Only
(3)  (C), (D), (E) Only
(4) (A), (D). (E) Only

(A T

(B) #=w-TH4uT

(C) FA==ATFATTHS

(D) ==

€ =

Hr= f2v T faEe O § ARl I F 949 Sian

() == (A). (B), (O)
(2) == (B). (O), (D)
(3) == (C). (D). (E)
(4) = (A), D). (E)

[Question ID = 11612][Question Description = 117_00_General_47_0CT22_Q17]
1. 1 [Option ID = 16445]
2. 2 [Option ID = 16446]
3. 3 [Option ID = 16447]
4. 4 [Option ID = 16448]



13) Given below are two statements :

Statement (I) : Through attention frame. it is possible to assess the rate at which

communicated content iz brought to the notice of the people.

Statement (IT) : In modern societies, the attention frames are uniform, unrefined and non-

interactive when all the frames available 1 the world are taken into

account.

In the lLight of the above statements. choose the correct answer from the options given

below :

(1) Both Statement (1) and Statement (II) are true
(2) Both Statement (I) and Statement (1) are false
{(3) Statement (I) 1s true but Statement (IT) is falze
(4) Statement (I) 1s false but Statement (II) 1s frue

= 2w o E

F95 () : oI 2 (929 %W) F AN H 39 2 F [eAd B 799 7 fem w A
T F S & S = W e e
A (1D : SRR JATE ° FiE AR 4 Fug @i eI e (30 W) W ose T s mL @ 3

Tl 2= T THE, AUEEEA G0 - =

T FIE AT 0, A9 T2 0 fasmew] § § wE 3 = i

(L

(2)

(3)

(4)

Faq (1) 310 (1) 51 e 2
For (1) 97 (ID) 371 51577 =
#a4 () 903 2, =i %94 (1) 359 7

Fu (1) 9977 2, 9154 %94 (ID T 2

[Question ID = 11613][Question Description = 118_00_General_47_0CT22_Q18]
1. 1 [Option ID = 16449]
2. 2 [Option ID = 16450]
3. 3 [Option ID = 16451]
4. 4 [Option ID = 16452]



14)  Given below are two statements : One is labeled as Assertion (A) and the other 1s labeled as
Reason (R).

Assertion (A): The understanding of communication as a ritual is not a radical view.
Reason (R) : The hegemonic view of transmission of communication is no longer valid.

In the hight of the above statements. choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (4)
(3) (A) is true but (R) 1= false
(4) (A) is false but (R) is true
I/ 71 w9 B0 e E : uE 9iFad (Assertion A) ?ﬁﬁqﬁﬁf@ﬁ‘a‘ﬂ‘r‘fﬂm =9% F77 (Reason R) %

F9H :

AT (A) : st fafy & &9 O 550w #1 19 g faEn a8 2)

F (R) : Huwwl w SEA ] e gfewm we a5 R

ST HUA] = AETE A, A9 20 T @Eed § 5 HE 300 6 999 i

(L) (A=W (R) 3 5= 7 3 (R), (A) =1 581 =ven 7
@) (A) =R (R) A T 2, =T @), (A) F1TF = TE 2
(8)  (Ay@= #, = (R) 354 7

(4) (A) 3797 &, =% (R) 973 2

[Question ID = 11614][Question Description = 119_00_General_47_0CT22_Q19]
1. 1 [Option ID = 16453]
2. 2 [Option ID = 16454]
3. 3 [Option ID = 16455]
4. 4 [Option ID = 16456]



15 g . g e
) Identify the correct sequence of barrers to effective commumeation.

(A)  Physieal
(B) Perceptual
(C) Emotional
(D)  Cultural

(E) Semantic

Choose the correct answer from the options given below :
(1) (A), (B). (C), (D). (E)
(2) (B), (C), (D), (E), (A)
(3) (D). (C). (A). (E). (B)
(4 (E). (D). (B). (A). (C)
T HAA F SR HOHE AR § Sqaead i
(A) =R
(B) wr=aiEE
(C) =T
D) HEFTF
(E) w14

16 B A 1 e (B = o s e 0 e o e o e

() (A, B (). (D). (E)
(2) (B, (). D), (E), A
(3) (D) (C). (A). (E). (B)
4)  (E). D). B A. (O

[Question ID = 11615][Question Description = 120_00_General_47_0CT22_Q20]
1. 1 [Option ID = 16457]
2. 2 [Option ID = 16458]
3. 3 [Option ID = 16459]
4. 4 [Option ID = 16460]

16) 400 students took a mock test: 60% of the boys and 80% of the girls eleared the cut off in the
test. If the total percentage of students clearing the cut off in the test is 65% . then how many
girls appeared in the test?

(1) 100 2 120

(3) 150 (4) 300



400 TaeniziEi 4 v Ben whian €] 60% 21 a9 80% BTN 38 Tia & fasdes 37 (F2-31%) T0 &
gt 7o) Afe fa=ges % 9n w3\ v 4 T #R 9 e = %e ufam 65% 7, @
ufier 4 ferae @ransti 4 up foen o @

(1) 100 2 120

(3) 150 (4) 300

[Question ID = 11616][Question Description = 121_00_General_47_0CT22_Q21]
1. 1 [Option ID = 16461]
2. 2 [Option ID = 16462]
3. 3 [Option ID = 16463]
4. 4 [Option ID = 16464]

17)
per annum for two vears and the sum becomes 7 196.

(1) 7 140 (2) ©144

(3) 7150 (4) t154

T FoTeA T TFGIE T 162 % = o w F 7 FT 9% o A, 91 {596 ¢ 196 7 w0 #, 19 gened

i
(1) 7140 (2) 1144
(3 7150 4y 71b4

[Question ID = 11617][Question Description = 122_00_General_47_0CT22_Q22]
1. 1 [Option ID = 16465]
2. 2 [Option ID = 16466]
3. 3 [Option ID = 16467]
4. 4 [Option ID = 16468]

18)  Given below are two statements based on the following :

Find the principal if the compound interest is charged on the principal at the rate of IE%_ %

A Car travels 25 km/hour faster than a bus for a journey of 500 Km, and the bus takes

10 hours more than the car.

Statement (I) :  Speed of the car is 45 km/hour.
Statement (IT) : Speed of the bus iz 20 km/hour.

In the light of the above statements. choose the correct answer from the options given

below :

(1) Both Statement (I) and Statement (II} are true
(2) Both Statement (I} and Statement (II) are falze
(3) Statement (I} is true but Statement (IT) is false
{4) Statement (I) is false but Statement (II) 1s true



TFeafEfEa = sman W 4E = e 2 E)

wh 0 500 T 1 Fi 7m0 9 fE g 25 /a2 aiew we @ S dl 2 a9 s wE F wHar 10 92

Fo (T) - TR il T 45 A A R
F7A (1) : =@ =i = 20 T g 2

EE b e 77 e = o o = 1 B ot L = | = Bt e L - 1 L

(1) = (D) 31 00 =4 57 3
(2)  wwE (I) =7 (D) 391 593 =
(3) == () 99 7, =i 24 (1) 594 7

@y = () w9, = e () ¥ 7

[Question ID = 11618][Question Description = 123_00_General_47_0CT22_Q23]
1. 1 [Option ID = 16469]
2. 2 [Option ID = 16470]
3. 3 [Option ID = 16471]
4. 4 [Option ID = 16472]

19) A sum of 7 53 1s divided among A. B and C in such a way that A gets £ 7 more than what B

zets and B gets T 8 more than what C gets. The ratio of their shares is :
(1) 20 :20:12 (2 27:17:09
(3) 26318 :10 (4y 23:19:11

T €53 F A B.CU =0 TN [A9ad A T2 R AS BH T T Hiuw Ay B C 1 T 8 Higw
THEAT 7| A7 Sh] THe=aTel T S 2

(1) 27:20:12 2y 27:17:09
(3) 25:18:10 4 23:19:11

[Question ID = 11619][Question Description = 124_00_General_47_0CT22_Q24]
1. 1 [Option ID = 16473]
2. 2 [Option ID = 16474]
3. 3 [Option ID = 16475]
4. 4 [Option ID = 16476]



20)

Match List T with List IT

ListI

(Number Series)
(A) 2,9.28 65, 126 P. ....
(B) 2,10, 30,68.130,P. ...
(€) 8.4,11,30,67,128, P, ...
(Dy b, 12,31,68.129.P, ...

List IT
(Value of P in the Series)
O 220
(Iy 222
(I 217
(IV) 219

Choose the correct answer from the options given below :

(2)
(3)
(4)

(A)
(B)
()
I

i Tau T el § H AE 3 0 =94 AT

(1)
(2)
(3)
(4)

(1) (A)-(ID), (B)-(D), (C)-(IV), (D)-(II)
(A)-AV), (B)-(ID), (C)-(11T), (D)~(D)
(A)-ID). (B)-(ID). (O)«IV), (D)-(D
(A)-(D). (B)-(1I). (C)-(IV). (D)-(IIT)

1% =19 111 =1 e Fifse
EEIp!

2.9, 28,65, 126. P, ....

52

. 10, 30. 68, 130, P. ...
3, 4. 11. 30, 67, 128, P, ...
b, 12,81, 68,199, P, ....

(A)-(II). (B)-(T). (C)-(IV), (D)-(I1I)
(A)-(IV), (B)-(ID). (C)(I1T). (D)-(T)
(A)-(III). (B)-(ID). (C)-(IV). (D)-(D)
(A)-(D. (B)-(II). (C)-(IV). (D)-(IIT)

I
79 F@en 4 P
I 220
(I 222
(I 217
(IV) 219

[Question ID = 11620][Question Description = 125_00_General_47_0CT22_Q25]
1. 1 [Option ID = 16477]
2. 2 [Option ID = 16478]
3. 3 [Option ID = 16479]
4. 4 [Option ID = 16480]

21)

(
(

T
()
(3)

1 Some Roges are fragrant

3) No. fragrant things are Roses

TR 71 2 % T A ST F
TS T T 74 A

e o T 5 T T4 2

The standard form categorical proposition of ‘Roses are fragrant " is

(2) Some fragrant things are not Roses
(4) All Roses are fragrant things

(2) T3 Tias A= TEE T5 A

(4) =l aErE e e w2 2

[Question ID = 11621][Question Description = 126_00_General_47_0CT22_Q26]



. 1 [Option ID = 16481]
2 [Option ID = 16482]
3 [Option ID = 16483]
4 [Option ID = 16484]

A W N -

22) Match List T with List IT

TastI List IT
(In a square of opposition) (Resultant)
{A) A being given false (I "E’1iz false
(B) ‘E'being given false {II) °E’ 1= true
{C) T being given false (II) T is undetermined
(D) ‘O being given false (IV) T istrue

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(IIT). (C)-(II), (D)-(IV)
(2) (A)-(TID). (B)-(IV). (C)-IT). (D)-(T)
(3) (A)-(ID), (B)-(I), (C)-(I1D), (D)-(IV)
(4) (A)-(IV), (B)-(ID), (C)-(IID). (D)-(I)

wi-1 % =y geEi-11 = e Firsw

-1 a=fi.I1
(A) =03 A’ Ted & F9 WA R M “E e 2
(B) ‘E ¥ 7ed & =9 5 99 T 2 1D “E = 2
(C) T =1 79d & =9 § g 7] 7 ) T =fEE 7
(D)} ‘O % 7T9a % =9 ° 5= 7T 7 V) T = 2|
= Tou 0 fEeeat § 3 HE 390 H =9 R

(1) (A)-(D). (B)-(1IT). (C)-(II). (D)-(IV)

(2) (A)-(III). (B)-(IV). (C)-(ID). (D)-(I)

3)  (A)-aD). B)-(D. (C)-(I). (D)-av)

(4) (A)-(IV). (B)-(ID). (C)-(IID). (D)-(D
[Question ID = 11622][Question Description = 127_00_General_47_0CT22_Q27]
1. 1 [Option ID = 16485]
2. 2 [Option ID = 16486]

3. 3 [Option ID = 16487]
4. 4 [Option ID = 16488]



23) Which one of the following formal fallacies is committed in the given argument?
All athletes are sportspersons.
No actor is an athlete.
Therefore no actors are sportspersons.
(1) Fallacy of Illieit process of Major Term
(2) Fallacy of Ilicit process of Minor Term
(3) Fallacy of Exclusive Premises

(4 Existential Fallacy

frerfafian b 4 wv-m s o 2 27
aifi veelte faenrdt 2
#1é wfiEm verefrz 87 2

WA &TE S faenEl 74 2)

(1)  wgid e 1 Ay when @ ad g
@ i ge i ey ufEE & o e
(3)  =AEHE ST T 2

4y  wiEaeER dF 2m

[Question ID = 11623][Question Description = 128_00_General_47_0CT22_Q28]
1. 1 [Option ID = 16489]
2. 2 [Option ID = 16490]
3. 3 [Option ID = 16491]
4. 4 [Option ID = 16492]



24)  Which of the following pramanas are accepted as valid by the Naiyvavikas?

(A) Perception

(B) Inference

(C)  Presumption

(D}  Verbal Testimony

(E) Comparison

Choose the correct answer from the options given below :

(1) (A), (B). (C) and (D) Only
(2) (B). (C), (D) and (E) Only
(3) (A). (B). (D) and (E) Only
4) (A), (C). (D) and (E) Only

FATRT 7 T=AAEa § ° TR T &) 3y e 2
(A) w34

(B) sAH

(C) 9T

(D) wfes T

(E) g

S o m fae 3 F wE T W T A

(1) & (A). (B). (C) 97 (D)
(2) === (B), (O). (D) w7 (E)
(3) a4 (A). (B), (D) #i (E)
4 =4 (A). (C), (D) 5 (E)

[Question ID = 11624][Question Description = 129_00_General_47_0CT22_Q29]
1. 1 [Option ID = 16493]
2. 2 [Option ID = 16494]
3. 3 [Option ID = 16495]
4. 4 [Option ID = 16496]



25)

Given below are two statements :

Statement (I) :  In Anvayva-Vyatirekl: middle term is both positively and negatively related

to the major term.

Statement (IT) : The knowledge of vyapti In Anvava-vyatireki is arrived at through the

joint method of agreement in presence and in absence.

In the light of the above statements. choose the correect answer from the options given

below :

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) 1s true but Statement (II) 1s false

(4) Statement (I) 1s false but Statement (II} 1s true

w5 (D) ; F= - | 7 92 A1 9% ° YA 71 FOEE 261 59 0 HAg A

w2 (1) e R 10 e O 1= B 1 1 B 1 o s 2 = s ([ 2 et T R =
AT 2

IO WU % s O, A 2 et § O nd 3w w9 i

(1) F9= (@an (AD = 79 2

2 Fo (1) &7 (ID =91 95 7

3) = (I) o9 7, =i w2 (1D 56T 2

(4  F (I) 579 7, =0 F9 () 5 7

[Question ID = 11625][Question Description = 130_00_General_47_0CT22_Q30]
1. 1 [Option ID = 16497]
2. 2 [Option ID = 16498]
3. 3 [Option ID = 16499]
4. 4 [Option ID = 16500]

26)

Which of the following 1z the act of obtaining a password or other confidential information
from a person within an organization by using unauthorized means such as felgning an
emergency situation?

(1) Social engineering (2) Trojan horse

(3) Password crack (4) Stepping-stone attack



T AR U S AAaET ®eA I A 5E T T F e PR S e
€ B R e e T A e Mo o ) e e B Lo e e = 2 2 R 1 o

(1) =i ATHERER (e SHiET) (2) A
(3)  wwEE FF (4) = =E 5

[Question ID = 11626][Question Description = 131_00_General_47_0CT22_Q31]
1. 1 [Option ID = 16501]
2. 2 [Option ID = 16502]
3. 3 [Option ID = 16503]
4. 4 [Option ID = 16504]

27) Arrange the following different types of computer networks in an ascending order on the

basis of geographical area implied.

(A) MAN
(B) WAN
(C) LAN

Choose the correct answer from the options given below :

H  (©.6).
(2) (A (©).®B)
(3 (C) A, (B)
(4) (B). (A). (©)

AT 400 1 STEW &0 7 (eAieTiEn F02gT G2l & (69 Wl i 3 376 ARE F8 ° e

(A) MAN
(B) WAN
(C) LAN

S faw 7o Tomred 5§ H81 309 1 999 hiTa ;

(I)y  (C). (B (A)
(2) (A (©). B
3 (O A ®
4 (B). A (©C)

[Question ID = 11627][Question Description = 132_00_General_47_0CT22_Q32]
1. 1 [Option ID = 16505]
2. 2 [Option ID = 16506]
3. 3 [Option ID = 16507]
4. 4 [Option ID = 16508]



28) @iven below are two statements with regard to websites :

Statement (I) : ‘Twitter' allows users to send small posts known as ‘tweets’ upto 140

characters in length.

Statement (IT} : By default. blogs display posts in chronological order on the home page

with the earliest post at the top.

In the light of the above statements. choose the correct answer from the options given

below :

(1) Both Statement (I) and Statement (IT) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

4= 2 oA feu T F 3 A F oA

F99 (D : foaer TR W 140 SE F Hi 9 O 8 o () w99 R s
Caite]
Foq (T0) fevrme =0 %, yaifys =@ (92) # 30 ° f2@W 30 =g B 99 W 9

FrerwAEan famEe 2

I FYE F A 8, A 5w fawen 1 F wE T F e A

(1)

(2)

(3)

(4)

Fe (I) AW (I0) =1 &ed 7
Fo () =i (1) ZE1 #590 &
9 (1) 73 2, =eea wem (1) w50 2

= (1) 3809 =, == 559 (1D 97 7

[Question ID = 11628][Question Description = 133_00_General_47_0CT22_Q33]
1. 1 [Option ID = 16509]
2. 2 [Option ID = 16510]
3. 3 [Option ID = 16511]
4. 4 [Option ID = 16512]



29)

With respect to RAM and ROM, which of the following statements are true?

(A)
(B)
(C)
(D)
(E}

ROM iz Real optical memory.

RAM stores the instructions you are currently working on.
ROM stores the BIOS.

RAM allows the user to read and write data.

Both RAM and ROM loze their data when the power is turned off.

Choose the correct answer from the options given below :

(1) (A), (D) and (E) only
(2)  (B), (C) and (D) only
(3) (A). (B) and (C) only
(40 (0, (D) and (E) only
W (RAM) 3% 79 (ROM) * 524 § F=iieiiea 51 4 =97 o5 27

(A)

(B) H HH I FAAE H R W1 T8 0 A gEAEA S SsiE w B|

(C)

T H TS 3] UH H HSIE A 2

(D) 9 TR F U AW oA S 2 R

E I B L e o it e = e e 7 e P e 1 e

(1)
(2)
(3)

4)

4 (A). (D) 3 (E)

et (B). (C) #7 (D)

=55 (A), (B) = (C)

=4 (C). (D) =117 (E)

[Question ID = 11629][Question Description = 134_00_General_47_0CT22_Q34]
1. 1 [Option ID = 16513]
2. 2 [Option ID = 16514]
3. 3 [Option ID = 16515]
4. 4 [Option ID = 16516]



30)

Match List I with List IT
LiatT List 1T
(Computer terms) {Description)
(A) Hub (I) Inputdevice
(B) Joystick (I) Operating system
(C) Notepad (ITI) Network device
() Android (IV) Text editor

Choose the correct answer from the options ziven below :

L (A-D, B)-dID, (C)«IV). (D)-ID)
(2) (A)-(III), (B)-(D), (C)-(ID), (D)-(IV)
(3) (A)-(ITD), (B)-(D. (C)-{IV). (D)-(ID
4 (AIV). (B)-D. (C)-(D. (D)-(II)

T T
(e g (i)

A == @D =9 fzamEs

(B) AaEE () sofe faem

(C) =TS (Il) === fzamsm

(D) TrEEs (IV) ZF= TR

= fom o faweg 8 98 = w1 =99 i

(1) (A)-(I). (B)-(IIL). (C)-(IV). (D)~«(ID)
(2) (A)-ID). (B)-(D), (C)-(ID). (D)-(IV)
(3) (A)-(IID), (B)-(D), (C)-(IV). (D)-(1I)
4) (A)-AV). B)-(I). (C)-(I). (D)-(ILL)

[Question ID = 11630][Question Description = 135_00_General_47_0CT22_Q35]
1. 1 [Option ID = 16517]
2. 2 [Option ID = 16518]
3. 3 [Option ID = 16519]
4. 4 [Option ID = 16520]

31)  In 2018. the Original Framework Agreement on establishment of International Solar
Alliance was amended to extend the scope of its membership to
(D All member statez of United Nations (2) The SAARC couniries

(3 Countries 1n the Middle-East (4) Countries in the Sub-Saharan Africa



T 2018 H ARTAS FHEE WHZ HE TEAEH SF SIS Jien TEEE H Heda FeeEa 5 "
e 10, =51 A9 & 5797 91 990 #94 & 190 @ T Y

(1) =% 7 % A g5e e (2) = =m
(3 w=EEFIT (4) =7 TR R F AW

[Question ID = 11631][Question Description = 136_00_General_47_0CT22_Q36]
1. 1 [Option ID = 16521]
2. 2 [Option ID = 16522]
3. 3 [Option ID = 16523]
4. 4 [Option ID = 16524]

32) Given below are two statements ;

Statement (I) :  Atmospheric stability is important because it determines the ability of
pollutants to disperse vertically in the atmosphere.

Statement (I[) : In summer season in India, the atmosphere is generally stable.

In the light of the above statements. choose the correct answer from the options given
below ;

(1) Both Statement (I) and Statement (II) are true
{2) Both Statement (1) and Statement (II) are false
(3) Statement (I) 1= true but Statement (IT) is false
{4) Statement (I) 1= false but Statement (II) 1s true

AT R B R

Fu7 (I) : AT TP SEeaE 2 FEIE SHE GEASE 3 UEEE 1 S g 3 e
AT a7 A

Fa3 (1) : T § U FE § AEATSE A T4 FE R

IHF FU9 F AT °, A9 160 70 faweT] 0 O 8] 307 o6 =9 i o

(1)  =w= (D) 91 (1) 541 &= 2
(2) = (D) =7 (D) == 53954 7
(3)  =wm (D) =4 7, 7w %95 (1) 594 =

(4)  wua () 99 2, = 599 (1) =79 7

[Question ID = 11632][Question Description = 137_00_General_47_0CT22_Q37]
1. 1 [Option ID = 16525]

2. 2 [Option ID = 16526]

3. 3 [Option ID = 16527]

4. 4 [Option ID = 16528]

33) Arsenic pollution in ground water is due to

(1) Oxides of arsenie (2) Sulphates of arsenic
(3) Acids of arsenie (4) Nitrates of arsenic

(1) = F AeaEs (2) A F g
(3)  EEE  w= 4) SEEE F AR



[Question ID = 11633][Question Description = 138_00_General_47_0CT22_Q38]
1. 1 [Option ID = 16529]
2. 2 [Option ID = 16530]
3. 3 [Option ID = 16531]
4. 4 [Option ID = 16532]

34) Identify the correct sequence of the following countries in respect of their ranking in
Sustainable Development Index 2020.

(A) China
(B) USA
(C) Brazil
(D) Russia
(E) India

Choose the correct answer from the options given below :

(1) D=B=A=E=C
(2) B=A=C=D=E
(3) B>A=D=>=C=E
(4) D>=B=A>C=E

#Ad {9 e 2020 ° T30 % SEn Heiaiad o @ GE FE J sgatead i
(A) =H

(B) #Ew T SHIE

(C) ==
D) ==
(E) 4rva
“/@ e T FEeT 5 | 5 I w99 F0an

(1) D=B=A=E=>C

(2) B=A=C=D=E

(3) B=A=D=C=E

(4) D=B=A=C=E

[Question ID = 11634][Question Description = 139_00_General_47_0CT22_Q39]
1. 1 [Option ID = 16533]
2. 2 [Option ID = 16534]

3. 3 [Option ID = 16535]
4. 4 [Option ID = 16536]



35)
What 1s the correct sequence of various components of biogas in terms of their abundance?

(A) Ammonia (NHz)
(B) Hydrogen Sulfide (H-S)
(C) Methane (CHy)

(D)  Carbon dioxide (CO2)

Choose the correct answer from the options given below :

(@8] B=D=A=C
{(2) C=D=A=>8B
(3) D=C=B=A

(4) C=D>B=A
AT 1 F1E H AN = = 9 AR F F Sqad Hie
(A)  smTFET (NH3)
(B) FEST TEEE (HaS)
(C) == (CHy)
(D) A AT (CO2)

9 T30 7 TEea 3 3 HEl 39 H 99 i

(1) B=D=A=C

(2) C=D=A=B

(3) D=C=B=A

(4) C=D=B=A
[Question ID = 11635][Question Description = 140_00_General_47_0CT22_Q40]
1. 1 [Option ID = 16537]
2. 2 [Option ID = 16538]

3. 3 [Option ID = 16539]
4. 4 [Option ID = 16540]

36) NITI Aayog is a/an
(1) Statutory hody of GOTL (2)  Autonomous body of GOT

(3) Advisory body to GOI (4) Executive body of GOIL



fifa s 2

(1) o7 HTRR F1 U Gifafas e (2) WHA HER U =EE HEw
(3)  O7E HIEN H Uk HeArEEn e (4) WA "R & v iy e

[Question ID = 11636][Question Description = 141_00_General_47_0CT22_Q41]
1. 1 [Option ID = 16541]
2. 2 [Option ID = 16542]
3. 3 [Option ID = 16543]
4. 4 [Option ID = 16544]

37) The University Grants Commission wag constituted on the recommendation of which of the
following?
(1) Mudaliar Commission (2) Sargent Commission
(3) Radha Erishnan Commission (4) Kothari Commission

et 8 5 e s w fAratasres SEE A w5 e e T

(L)  HEres AmEm (2) A= A
(3)  TETEUE AW (4) =FEE] AE

[Question ID = 11637][Question Description = 142_00_General_47_0CT22_Q42]
1. 1 [Option ID = 16545]
2. 2 [Option ID = 16546]
3. 3 [Option ID = 16547]
4. 4 [Option ID = 16548]

38) Given below are two statements :
Statement (I) :  Education for environment is a process of inquiry and action on real
environmental issues.

Statement (II) : Children are educated about environmental prohlems. equality and many
other 1ssues. without development of skills and attitudes to meet these
challenges,

In the light of the above statements. choose the correct answer from the options given
below :

(1) Both Statement (I)-and Statement (IT) are true
(2) Both Statement (I) and Statement (IT) are false
(3) Statement (I) 1s true but Statement (II) 12 false

(4) Statement (I) 1s false but Statement (IT) is true



o Fm ErmE

=561 (D) : T % fom (oA anEeia GEEE HEEnEl Ghl TG990 AR 39 FHEE o
T 7
Fa7 (ID) : T I TAEE TR, Al S0 wE e e # e e watan At

I FUH F AT H, A9 20 0 e 3 H Hel 39 & =1 I

(1)
(2)
3)

(4)

w5 (1) &1 (1) =41 == &

FoA (I) 3% (ID) 21 378 =

Foe (Iy 509 2, =i Fe (1) =0 7

FoA (1) |69 2, 506 99 (1D 57 2

[Question ID = 11638][Question Description = 143_00_General_47_0CT22_Q43]

1. 1[0
2. 2[0
3. 3[0
4. 4]0

39)

ption ID = 16549]
ption ID = 16550]
ption ID = 16551]
ption ID = 16552]

Match Ligt T with List I1:

ListI
(Article of Indian Constitution)
(A) 45

(B) 30
(C) 15(3)
(D) 239

(D

(IT)

(IIT) Right to

List 11
(Subject)
Empowering the state to make special

provisions for women and their
education
Responsibility of education

department of the Union Territories
under the Central Government

free and compulsory

education

(IV) Right of minocrities to establish and

administer education institutions

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(IID. (C)-(II), M)-(D
(2) (A)-(IID). (B)-(IV). (C)«(I). (D))
(3) (A)-(ID), (B)-(D), (C)-(IV), (D)-(IIL)
(4) (A)-D). (B)-(III), (C)-(IT), (D)-IV)



T % =g T 7 e i

! 11T
(WA & Hiawm & T ) (ferg)
(A) 45 @O = & wfaenst sin 39k foian & fem
ferde FuEs i 1 HWHFN YaH w4
(B) 30 (ID %= HHE F dA=Pd H9 U9 51 & foan
faum =1 gifas
(C) 15(3) (I F-speeh 3 sfary foran & sl
(D) 239 (IV) $ias d@wem wafad &@ st gafad +3

Hadl HA HiE & ATER

5 et L = = i = o s e = e A

(1) (A)-(IV), (B)-(OI). (C)II). (D))

(2) (A)-(IOO). (B)-(IV), (C)-(I). (D)-{II)

(3) (A)-(ID). (B)-(I), (C)-(IV). (D)-(III)

(4) (A)-(@). (B)-(IID). (C)-(ID). (D)-(IV)
[Question ID = 11639][Question Description = 144_00_General_47_0CT22_Q44]
1. 1 [Option ID = 16553]
2. 2 [Option ID = 16554]

3. 3 [Option ID = 16555]
4. 4 [Option ID = 16556]

40) Match List I with List IT:

ListI ListIT
(Institutes of National Importance) (Locations)
(A) National Institute of Design (I).: ' Mghali

(B) National Institute of Pharmaceutical (II) Ahmedabad
Edueation and Research

(C) Vishvesaraya National Institute of (III) Vijayawada
Technolozy

(D) School of Planning and Architecture {IV) Nagpur

Choose the correct answer from the options given below :

(1) (A)-(@). (B)AIID). (C)-(IV). (D)-(ID)
(2) (AR, B)-IV). (C)-(ID). (D)-(D
(3)  (A-IV). (B)-(III). (C)-(D. (D)-(ID
(4) (A)-(ID), (B)-(D. (C)-(IV). (D)-(III)



-1 % Trd geEi-I1 =7 e Fiee

11 o111
(I uEv & HEH) (T2174)
(A)  F9F Fzge AT e (D =
(B) 9 A TR TEgea taheE us (I sEEEEE
freg

(C) Tavamia Fome Sfezege AT Zier= (IID Trarst

Fr= fau o fomeem @ @ WA 3 =Ae AFiaw

(1 (A)-(D), (B)~(III). (C)-(IV). (D)(II)
(2) (A)-(IID). (B)-(IV). (C)-(II). (D)-(I)
(3) (A)-(IV). (B)-(ILI), (C)-(I). (D)-(1I)
(4) (A)-(ID). (B)-(D). (C)-(IV). (D)-(I1D)

[Question ID = 11640][Question Description = 145_00_General_47_0CT22_Q45]
1. 1 [Option ID = 16557]
2. 2 [Option ID = 16558]
3. 3 [Option ID = 16559]
4. 4 [Option ID = 16560]

Topic:- 11_GP_SH1_S1_C



1)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.



faeifafan T9 #1 ug 3 999 1. &1 IW 3

@rE | ATl g9 0 sk w ) e R, Fhe g sveEs @vitd # TR ge Auen fasraeiie gun
ﬁﬂfﬁﬂfn%lwﬂwaﬁ%ﬁmiﬁmwﬂmwwﬁﬂémdﬁm?l%ﬁ AT AN
&1 G Wi FegA w2, fb e R s arend s s w8 adl den 4w oA @ dtaa 3
wre verd ) el w0 A 2, T T A S S A 2, S s e A 2, e
wer) fem S 2, 32 gFET A I e B 3R s A v A sadhl avard] 26 2 A A e s
afeqdl I % vEE AR WA A A A IETE 3 e ygieEl, giee ve s, #ies |9
yuiref] il wHTE qeTHl 8 guT e e L smavgsa 2) anyfe gt i GG Rl 6
WravEFA 71 =, 59 o0 9 g glaan ageres off 8, 971 9 @ & aad wetas 2 o, gaffas
EEl 97 # & 39 AEvasm & uld SrmeEd I30E S AW AT 98 giafeaa fEm o g f6 e o
=y 4 T off v w e 1 FEmrd 3 8 S99 3 g aEmd & 9Eg wlE e sfeam smy e 2
47 A9 ? o WWd 0 @M # al | dng s B0 e o e sl gl @l B, 39H v B e ol
I wTeA A1 21 Hehl ek upl, @2 dem 4 99 & q@ @R %) Y9E #E] 2q v 2, 91 e afvas
W@ gaEE 4 107 <9 fl gl 0 044wy w3 sl 3 3= sEe W oErE 6 e W
wardl 2t 21 fegdl wewn 3, #ifaz-gd v § @ B wmd w9 G & fen afed O feyeE F e
&1 uigaiad &1 fen an gua foie 4 3g@ 2 e mma & e % 99 9H | fiH9ere W E I
off @fl smefi siv wfy gfrads o g & gregn 8 gafa & faam i afg o dedt 2ol safen, am
qrEEl TR T8 fovE 99 T 2 EeR WRgA HeRRTEHE ST, Hriiaes 31 e gare w0
agradr 2 T vma 8, ufa o ufd saf 50 fen @1 a0 @ wad) 26 2, o fr gue s <m o e
H %Y 2| 98 W & HEeE I % HW0 AH 2 4fEw | 4 5uy 3ued) & w1 2

A major fall out of enormous amount of food wastage 1s
(1) More food production
(2) Uneven access to market

(3) Large number people going hungry
(4) More investment in the farm sector of developing countries

ST W 0T avErel @ g 2 R

(1 T @ I

(2)  =ET R A T

(3) wEEEnE g am

(4)  Tawrsle S 4w A u ates FEm

[Question ID = 11641][Question Description = 146_00_General_47_0CT22_Q46]
1. 1 [Option ID = 16561]
2. 2 [Option ID = 16562]

3. 3 [Option ID = 16563]
4. 4 [Option ID = 16564]



2)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.
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@rE | ATl g9 0 sk w ) e R, Fhe g sveEs @vitd # TR ge Auen fasraeiie gun
4 wifer M R QUATEUS] & Y & SHR w0y =@ # o e sad 2 e 2 fava, smEvgel
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YuiTef] S ST deTE] 8 gar feu w L savged &) syl drnfien i Swhm fafegi 4
WravEFA 71 =, 59 o0 9 g glaan ageres off 8, 971 9 @ & aad wetas 2 o, gaffas
EEl 98 2 6 38 smavasa & 9fd Srmedl 30T @l S A1 38 e 1 E5e R o
=y 4 T off v w e 1 FEmrd 3 8 S99 3 g aEmd & 9Eg wlE e sfeam smy e 2
47 A9 ? o WWd 0 @M # al | dng s B0 e o e sl gl @l B, 39H v B e ol
arardl snfae 48 21 sHe vw uw, 21 HEn d 99 ok e @i o) U sl Bq vam 2, A fa afeas
W@ gaEE 4 107 <9 fl gl 0 044wy w3 sl 3 3= sEe W oErE 6 e W
wardl 2t 21 fegdl wewn 3, #ifaz-gd v § @ B wmd w9 G & fen afed O feyeE F e
&1 uigaiad &1 fen an gua foie 4 3g@ 2 e mma & e % 99 9H | fiH9ere W E I
off @fl smefi siv wfy gfrads o g & gregn 8 gafa & faam i afg o dedt 2ol safen, am
qraTdl okl TehA1 U fove a9 0 2 ek RSd HeRRTeYsh WA, warfas sin il gaa 26
agradr 2 T vma 8, ufa o ufd saf 50 fen @1 a0 @ wad) 26 2, o fr gue s <m o e
q % 2| T2 = & FIE IEN F F00 AF 2 alew @ 6 quy ST & w56 )

What are the measures suggested to reduce food wastage?
(A)  Better storage and transport facilities
(B) Establishment of cold chain systems

(C) Cl-_:ssure of points of food wastage

(D)  Restriction on weddings

Choose the correct answer from the options given below ;

(1) (A) and (B)
()  (B)and (C)
(3  (C)and (D)

4 (A)and (D)



(A) #EAT HEE AR UiEEd SEEm
(B) =z = wofer 1 T
(C) Tame el = TagaT w1 5% Fe
(D) =i FATTE W A

1= f2u Tu faEEeT | A wE 3 == A

(1) (A) 741 (B)
(2) (B) 74 (C)
(3) (C) 741 (D)

4 {A)@9 (D)

[Question ID = 11642][Question Description = 147_00_General_47_0CT22_Q47]
1. 1 [Option ID = 16565]
2. 2 [Option ID = 16566]
3. 3 [Option ID = 16567]
4. 4 [Option ID = 16568]



3)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.
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&1 uigaiad &1 fen an gua foie 4 3g@ 2 e mma & e % 99 9H | fiH9ere W E I
off @fl smefi siv wfy gfrads o g & gregn 8 gafa & faam i afg o dedt 2ol safen, am
qrEEl TR T8 fovE 99 T 2 EeR WRgA HeRRTEHE ST, Hriiaes 31 e gare w0
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The clean plate campaign indicates the need for to reduce food wastaze.
(1) Strict pumshment (2) Public awareness

(3 New processing technigues (4y TImproved packaging methods

FA T2 ATGAT G SEE] ] A =1 AT ® Al 2

(1) =+ (2) =7 FFEFE

(8) A9 yEEE AEAT 4y Za TEba T

[Question ID = 11643][Question Description = 148_00_General_47_0CT22_Q48]
1. 1 [Option ID = 16569]
2. 2 [Option ID = 16570]
3. 3 [Option ID = 16571]
4. 4[Option ID = 16572]



4)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.
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W@ gaEE 4 107 <9 fl gl 0 044wy w3 sl 3 3= sEe W oErE 6 e W
wardl 2t 21 fegdl wewn 3, #ifaz-gd v § @ B wmd w9 G & fen afed O feyeE F e
&1 uigaiad &1 fen an gua foie 4 3g@ 2 e mma & e % 99 9H | fiH9ere W E I
off @fl smefi siv wfy gfrads o g & gregn 8 gafa & faam i afg o dedt 2ol safen, am
qraTdl okl TehA1 U fove a9 0 2 ek RSd HeRRTeYsh WA, warfas sin il gaa 26
agradr 2 T vma 8, ufa o ufd saf 50 fen @1 a0 @ wad) 26 2, o fr gue s <m o e
H &Y 2| 92 W & FE IEM F F A7 2 afew mrg F mmy e & S 2

Food wastage also causes

(1) The rich-poor divide (2) Increase in contagious diseases
(3) Harvest 1ssues (4) Environmental pollution

(1) - s (2) = T A g
(3) T wEd mEE= (4) T T

[Question ID = 11644][Question Description = 149_00_General_47_0CT22_Q49]
1. 1 [Option ID = 16573]
2. 2 [Option ID = 16574]
3. 3 [Option ID = 16575]
4. 4 [Option ID = 16576]



5)

Read the following passage and answer questions from 46 to 50.

The wastage of food 1s substantial in every country. but some studies have shown that it is
more gerious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed, but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm., when it moves to the market and is processed, stored and
shifted to shops. and finally in the ktchen. Many fruits and vegetables perish soon after
harvesting. There 1s a need to improve production and stordge practices. transport and
infrastructure. cold chain systems and processing techniques. Modern technologies and
packaging methods are needed. But even in countries where these facilities are awvailable,
wastage 1s high. So, the most important requirement is to improve popular awareness of the
need to ensure that food is not wasted in any form. at any stage. China has launched a clean
plate campalgn against wastage. It 1s estimated that food worth at least Rs. 1 lakh crore 1s
wasted in India, and thiz does not include wastage of cooked food. A paxt of that should be
enough to feed the larger numbers of hungry people in the country. which is ranked 94 out of
107 countries in the global hunger index. Food 1= wasted massively at weddings and on other
occazions. The Delhi Government had, in pre-Covid times, thought of restricting the number
of guests at weddings to reduce wastage of food. The UN report says that reducing food waste
would also cut greenhouse gas emissions and slow the destruction of nature through land
conversion and pollution. Avoiding food wastage should therefore became a national mission.
It will have very positive environmental, social and economic impacts, In India, it 1s stated
that the household food wastage is 50 kg per capita per year. which is less than in countries
like the US and China. It is not because of efficient use of food. because of overall availability
of food.
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Stoppage of food wastage is needed in the interest of
(1) Food production
'24) National foed mission
(3 Bring down the number of countries in Global Hunger Index
(4 Makinge food available to all
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